Forma Model 900 Series

-86C ULT Upright Freezer
Operating and Maintenance Manual 7090902 Rev. 18



Important installer and user information:
A redundant temperature sensing device has been included in this ULT freezer.

Preface

This device is a type “T” thermocouple. For convenient access, the thermocou-

ple (Figure 1-3) terminates in an interconnect jack (Figure 1-5) behind the base

front cover. (May be located differently in chests. See Section 1.) It is strongly

recommended that this thermocouple be attached to a redundant 24 hour 7

day monitoring system with alarm capabilities. Connecting the sensor to a

monitoring and alarm system separate from the freezer provides the utmost in

product safety, should the integral system fail. A

Models Covered

Packing List

Catalog No. c?:::t')t y Voltage Part No. Description Quantity

302 1 23050 122005  Key 2 (4 for DD)

903 13 120/60

%09 3 208-230/60 Hz 380520  Neoprene Cap 2

904 17 120/60

905 17 230/50 510016 %-20 x 5-%4" Bolt 2

910 17 208-230/60 Hz

906 23 230/50 195763  Retaining Clip 1

956 23 120/60

957 23 208-230/60 Hz 370563 gf{?}gﬁﬁ'arm 1

907 28 230/50

908 28 208-230/60 Hz

Double Door (DD) Units

991 13 230/50

992 13 120/60

986 13 208-230/60 Hz

993 17 120/60

994 17 230/50

988 17 208-230/60 Hz

990 23 120/60

995 23 230/50

989 23 208-230/60 Hz

MANUAL NUMBER 7090902

18 40634 10/31/17 Updated exploded drawings bpg
17 41728 10/02/17 Added Door operation info (1-6) bpg
16 31514 8/25/17 Updated 195964 High/Low temp stage drawings bpg
15 41370 8/14/17 Updated BUS board information bpg
14 41159/41348 5/12/17 Corrected oerational temp range and D-volt rating bpg

Thermo Scientific

Model 900 and 5900 Series i



Preface

‘ CAUTION

Contains Parts and Assemblies

‘ 5& .\ Susceptible to Damage by
Electrostatic Discharge (ESD)

Important Read this instruction manual. Failure to read, understand and follow the instructions in this manual
may result in damage to the unit, injury to operating personnel, and poor equipment performance. A

Caution All internal adjustments and maintenance must be performed by qualified service personnel. A

Material in this manual is for information purposes only. The contents and the product it describes are subject
to change without notice. Thermo Fisher Scientific makes no representations or warranties with respect to this
manual. In no event shall Thermo be held liable for any damages, direct or incidental, arising out of or related to
the use of this manual.

The -86C Freezers (see page i for specific list of models) described in this manual are high performance units
which can be used for research and in situations that directly support medical applications. When these products
are used to support a medical application, it is an accessory to a medical device and is therefore considered as a
medical device in its own right by the regulatory body (e.g. FDA).

This product is intended for use:
* As cold storage in research use.

* As a medical device for diagnostic use (storage of samples not intended to be re-introduced to human body).

Registration: This medical application is considered a Class I medical device by the FDA. This product is
classified as product code — JRM, regulation number 862.2050 and is considered a Class 1 device, 510(K)
exempt.

©2014 Thermo Fisher Scientific. All rights reserved.

ii Model 900 and 5900 Series Thermo Scientific



Preface

Important operating and/or maintenance instructions. Read the accompanying text carefully.

Potential electrical hazards. Only qualified persons should perform procedures associated with this
symbol.

Equipment being maintained or serviced must be turned off and locked off to prevent possible injury.

b b

% Extreme temperature hazards, hot or cold. Use special handling equipment or wear special, protective
@é clothing.

WEEE Compliance: Thermo Fisher Scientific has contracted with companies for recycling/disposal in
each EU Member State. For further information, send an email to weee.recycle@thermofisher.com.

v Always use the proper protective equipment (clothing, gloves, goggles, etc.)
v Always dissipate extreme cold or heat and wear protective clothing.
v Always follow good hygiene practices.

v/ Each individual is responsible for his or her own safety.

Thermo Scientific Model 900 and 5900 Series iii



Preface

Do You Need Information or Assistance on
Thermo Scientific Products?

If you do, please contact us 8:00 a.m. to 6:00 p.m. (Eastern Time) at:

1-740-373-4763 Direct

1-800-438-4851 Toll Free, U.S. and Canada
1-877-213-8051 FAX

http://www.thermofisher.com Internet Worldwide Web Home Page
service.led.marietta@thermofisher.com Tech Support Email Address
www.unitylabservices.com Certified Service Web Page

Our Sales Support staff can provide information on pricing and give you quotations. We can
take your order and provide delivery information on major equipment items or make
arrangements to have your local sales representative contact you. Our products are listed on the
Internet and we can be contacted through our Internet home page.

Our Service Support staff can supply technical information about proper setup, operation or
troubleshooting of your equipment. We can fill your needs for spare or replacement parts or
provide you with on-site service. We can also provide you with a quotation on our Extended
Warranty for your Thermo Scientific products.

Whatever Thermo Scientific products you need or use, we will be happy to discuss your
applications. If you are experiencing technical problems, working together, we will help you

locate the problem and, chances are, correct it yourself...over the telephone without a service

call.

When more extensive service is necessary, we will assist you with direct factory trained
technicians or a qualified service organization for on-the-spot repair. If your service need is
covered by the warranty, we will arrange for the unit to be repaired at our expense and to your
satisfaction.

Regardless of your needs, our professional telephone technicians are available to assist you
Monday through Friday from 8:00 a.m. to 6:00 p.m. Eastern Time. Please contact us by
telephone or fax. If you wish to write, our mailing address is:

Thermo Fisher Scientific (Asheville) LLC
401 Millcreek Road, Box 649
Marietta, OH 45750

International customers, please contact your local Thermo Scientific distributor.

iv Model 900 and 5900 Series Thermo Scientific



Thermo Scientific

Section 1

Section 2

Section 3

Section 4

Table of Contents

Installationand Start-up ................. ... i 1-1
Control Panel Keys, Displays, Indicators . . .................... 1-4
Operation of the Keypad . .. ..... ... o i 1-5
Install Freezer .. .. ..o 1-5
Choose Location . . ... oottt 1-5
Door Operation . . ... 1-6
Install Wall Bumpers . ... i 1-6
Install Shelves . .. ... .. 1-6
RS-232 Communications . . . ... 1-6
Remote Alarm Contacts . .. oo oo v eeie et 1-7
Attach Power Cord . .. ..o 1-8
Connect Unit to Electrical Power .. ........................ 1-8
RunMode . . ... o 1-8
Freezer Start-Up .. .. ... o 1-9
Set Operating Temperature . .. ... ... 1-9
Set High Temperature Alarm .. ....... ... ... ... .. ... 1-10
Set Low Temperature Alarm . . ....... ... ... o ... 1-10
Calibrate ..o e i 21
Calibrate Control Probe . .. ....... ... ... .. .. ... .. .. .. ... ... 2-1
Alarms . . ... i 3-1
High Stage System Failure .. ....... ... ... ... ... ... ..., 3-2
Probe Failure Alarm ... ...... ... ... . . i 3-2
Alarm Error Charts . .. ... . 3-3
Maintenance ............ ..o it e 41
Clean Cabinet Exterior .. .......... ..., 4-1
Clean Air Filter . ... ... . e 4-1
Clean Condenser . .. ...o.uui ittt et 4-1
Clean Water-cooled Condenser .. ............ ..., 4-2
Prepare Unit for Storage . ... ... oot 4-2
Long Term Storage with Water-cooled Condenser . ............ 4-3
Defrost Chamber ... ....... ... ... .. . ... 4-3
Model 900 and 5900 Series

\%



Table of Contents

Clean Door Gasket . . .....oiiii i 4-4

Vacuum Relief Port . .......... . i 4-4

Check Battery(s) . . ..o ov e 4-5

Replace Battery(s) . .. .o vt 4-5
PREVENTIVE MAINTENANCE . .......... ..., 4-6

Section5 Factory Installed Options ...t 5-1
Back Up System (BUS) ....... .. o i 5-1

Install Vent Stack, Solenoid and Injection Assembly . ........... 5-1

Install Temperature Probe . . ...... .. ..o oo oL 5-3

Connect Probe/Solenoid Harness . . .. ........ ... ... ... ... 5-4

BUS Control Panel . ........ ... 5-5

Configure Optional BUS (Back-Up System) .................. 5-7

Set Optional BUS Set Point .. ....... ... it 5-8

Test BUS Operation .. .. ... 5-8

Clean Vent Stack . . ... ..o 5-8

Disconnect Fitting Asm. and Transfer Hose . . ................. 5-9

Chart Recorder .. ... ... i 5-9

Installing the Chart Paper.......... ... ... ... ... ... ... 5-9

Change Recorder Temperature Range .. ........ ... ... ... ... 5-9

Recorder Calibration . . ........ ... . i 5-10

Water-cooled Condenser .......... ... . ... 5-10

Water Connections . . .. v.vu vt n et 5-12

Five Inner Door Option . ...... ... .. .. .o ... 5-13

Section6 Specifications ... 6-1
Single Door Units. ... i 6-1

Double Door Units . ..o vvvn i 6-3

Section7 SpareParts ........... ... 7-1
Section8 Refrigeration Schematics .................. ... ... ol 8-1
Section9 Electrical Schematics.........................coiinnt 9-1
Section10  Warranty............oiiiiiriiii it 10-1
Appendix  Handling Liquid Nitrogen .. ................coiiiiiiiiian.t. A-1
Handling Liquid CO2............ ..o B-1

FirstAid .. ... C-1

Vi Model 900 and 5900 Series Thermo Scientific



Thermo Scientific

Section 1 Installation and Start-up

Control Panel ~__

Optional Back Up >
System Controls
Temperature — | |

Recorder §

(Optional)

Figure 1-1. Freezer Front View Components

Control panel - keypad, displays and indicators

BUS (Optional Back Up System) control panel

Optional temperature recorder or datalogger

Model 900 and 5900 Series



Section 1
Installation and Start-Up

Wall Bumper
(pre-tapped holes)

— Optional Back-up

— System Connections

@EKO
= E=B<—— RS-232 or RS-485
Interface
. i
i

Power Switch
(mains disconnect)

Remote Alarm Contacts  Power Inlet

Figure 1-2. Freezer Rear View Components

* Remote alarm contacts

e Power inlet for power cord connection

e Optional BUS connections for probe and solenoid
e RS-232 (default) or RS-485 interface

e Power switch (mains disconnect)

Shelf
Bracket —>

0000

I g £
<« Optional Miscellaneous Accessories Probe

H F;: ~— Optional - Recorder Probe/Datalogger Probe

Sealapt ';7'7‘ ) vical seal Control RTD/Redundant Type T
(Caution: This is a critical seal. Thermocouple Probe

Seal must be maintained.)

Figure 1-3. Chamber Probe(s)

1-2 Model 900 and 5900 Series Thermo Scientific



Thermo Scientific

Chamber Probe N|

Cover

Figure 1-4. Vacuum Relief and Probe Cover Location

*  Vacuum relief port - pressure equalization port

71—

°

T

Vacuum Relief
Port

Section 1

Installation and Start-Up

* Probe cover - houses control, optional recorder, datalogger, or optional
miscellaneous accessory probes

Battery power

switch

Thermocouple
interconnect jack

Battery mounting
bracket

To

remove filter

\
e

i
N\

Freezer battery
and optional BUS battery

Figure 1-5. Battery(s) location and switch

* Battery mounting bracket(s)

*  Battery power switch (freezer and BUS)

*  Freezer battery

*  Optional BUS battery

o Freezer filter location

Model 900 and 5900 Series 1-3



Section 1
Installation and Start-Up

Control Panel Keys,

. . Temperature  Mode Alarm  Silence Alarm
D|sp|ays, Indicators  Display — Key Indicator Key Pa’nel
4 m—s’ r—}\
Alarms jff Silence
—— Power Failure > Probe Failure > Low Battery <&
—— High Temperature > Door Open > Hot Condenser
—— Low Temperature > Wrong Power > High Stage Failure

O Run O SetHigh Alarm O Calbrate
O Set Temperature O SetlLow Alarm Backup

Temperature 'C ?
Ent@rﬁ}
4
L©

= /

v

L Up and Down L Enter Key
Arrows

Figure 1-6. Control Panel

e Temperature Display - Displays temperature in degrees Celsius.

*  Mode Select Switch - Used to select Run, Set Temperature, Set High
Alarm, Set Low Alarm, Calibrate, Backup.

* Alarm Indicator - Light pulses on/off during an alarm condition of the
cabinet.

 Silence - Silences the audible alarm. See Section 4 for alarm ringback
times.

e Alarm Panel - indicates the current alarm condition.

e Up and Down Arrows - Increases or decreases values, toggles between
choices.

* Enter - Stores the value into memory

1-4 Model 900 and 5900 Series Thermo Scientific



Operation of the
Keypad

Install Freezer

Choose Location

Thermo Scientific

Section 1
Installation and Start-Up

The Model 900 Series freezer has five basic modes which allow freezer
setup and operation. Press the Mode key to scroll through the mode
selections.

@ Up Arrow: Increases or toggles the parameter value.
enter | Enter: Must press Enter key to save to memory all
@ changed values.
Down Arrow: Decreases or toggles the parameter value.
s e r— Silence Key: Press to silence the audible alarm. See

Section 4 for alarm ringback times.

Note If tipped more than 45°, allow the unit to sit upright for 24 hours
before start up. A

To remove the freezer from the pallet, use a 1/2" wrench to remove all the
bolts securing the shipping bracket to the pallet.

Remove the shipping bracket. Remove the ramp boards from the pallet
and place the slotted end over the ramp brackets on the pallet. The
support blocks on the ramps will be facing down. Before moving the
freezer, make sure the casters are unlocked and moving freely. Align the
caster with the ramp boards. Use adequate personnel to roll the freezer off

the pallet.

The freezer can be easily pushed to the desired approved location,
described below. If necessary, the doors and lower front panel may be
opened to move the unit through tight openings. When the freezer is in
position, set the front caster brakes.

Note The freezer must not be moved with the product load inside. A

Note For proper ventilation and airflow, a minimum clearance of 5 at the
rear and top and a clearance of 8” on the side of the freezer is required.
Allow adequate space in the front of the freezer for door opening. A

Locate the freezer on a firm, level surface in an area with an ambient
temperature between 18°C and 32°C. Provide ample room to reach the
mains disconnect switch (power switch) located on the rear of the freezer.

Model 900 and 5900 Series 1-5



Section 1
Installation and Start-Up

1-6

Door Operation

Install Wall Bumpers

Install Shelves

RS-232 Communications

Model 900 and 5900 Series

Upright freezer models are equipped with an advanced assembly
specifically designed for ultra-low temperature freezers.

Features include:

*  One-hand operation
e A front-accessible lock

* Hasps for a standard padlock to provide additional security. Length of
the shackle must be between 34 inch (1.9 cm) and 1% inch (3.8 cm).

* Durable construction for reliable operation and safe product storage.

The parts bag, located inside the cabinet, contains the following parts.

Quantity Stock # Description Purpose
2 510016 1/4-20 x 5-1/2" Bolt Wall Bumper
2 380520 Neoprene Cap Cap Protector

Table 1-1. Parts bag

Install the bolts into the pre-tapped holes on the back of the compressor
section. Install a neoprene cap on each bolt. Refer to Figure 1-2 for the
locations of the pre-tapped holes.

Install the shelf clips into the shelf pilasters (front and back) at the desired
shelf level. Install the shelves in the cabinet onto the clips.

Note Maximum shelf load is 100 Ibs (45.4 kg) per shelf. A

Note On units having the optional 5 inner door option, refer to the
instructions accompanying the inner door kit. A

The Model 900 Series freezer has a
data communications interface. The
factory default setting is RS-232.

The wiring identification for the
interface is shown in Figure 1-7. One
nine pin, sub "D" style connector is Figure 1-7. RS-232 Interface
located on the back of the freezer. See

Figure 1-2 for the location of the connector on the freezer.

The freezer transmits temperature information every 60 minutes. A
standard DB9 serial extension cable can be used to connect the freezer to a
serial device. Some serial devices may require a null modem adapter.

Thermo Scientific



RS-232 Communications
(continued)

Remote Alarm Contacts

IMPORTANT USER INFORMATION

CAUTION! Stored product should be protected
by a redundant 24 hour/day monitoring system
with alarm capability. An interconnect jack and
thermocouple are installed for centralized
monitoring, should on-board system fail.

Thermo Scientific

Section 1
Installation and Start-Up

Data format:

Baud ......... ... . 1200
Data bits . . . ... 8 (7 bit ASCII with leading zero)
Startbits . ... .. 1
Stopbits. ... 2
Parity . ... i none

The data transfer sequence is transmitted in the following format. X refers
to numerical temperature data.

(NUL) (-) XXX (SP) C (SP) (Error Message) (SP) (LF) (CR) (EOT) (SP)
In the event of a CNTRLFAIL, Er07, or the control probe is out of range

error, the numerical temperature data (XXX) in the transmission would be

replaced by T_ERR.

If no alarm condition exists, spaces will be sent. A total of 20 characters
will be sent.

SP - Space LF - Line feed
CR - Carriage return EOT - End of text (4)
NUL - Null character (00)

If an alarm condition does exist, “Error Message” in the protocol will be

replaced by the following:

UNDERTEMP (temperature above the low alarm setpoint)
OVERTEMP (temperature below the high alarm setpoint)
PWRFAIL (AC power failure)

CNTRLFAIL (Control probe failure)

Er07 (micro failure)

HSHX FAIL (Heat exchanger failure)

HOT COND (Hot condenser)

See Figure 1-2 for the location of the remote alarm contacts. The remote
alarm connector is located in the parts bag provided with the manual. It
must be installed if connecting the

freezer to an alarm system. After & ||-'| SR | 5
installing the wiring from the alarm
system to the connector, install the PEVOTE CONTACTS/ANALTG TLUTPLT

. PIN4 1 Not Connected
connector to the freezer microboard SING 2 Not Comected

and secure with the two screws PIN# 3 Not Connected

. . PIN# 4 Not Connected
provided. The remote alarm provides a | PIN# 5 Nornally Closed
PIN# 6 Common,

NO (normally open) output, a NC PIN# 7 Norrolly Open
normally closed) output and COM CONTACT RATING: 1A & 30V

. CONTACTS IN ALARM STATE
(common). The contacts will trip on a i i

Figure 1-8. Remote Alarm Contacts

Model 900 and 5900 Series 1-7



Section 1
Installation and Start-Up

Remote Alarm Contacts
(cont)

Attach Power Cord

Connect Unit to Electrical

1-8

Power

Run Mode

Model 900 and 5900 Series

power outage and high temperature or low temperature alarms. They will
also trip on high stage, control probe or microboard failures.

Figure 1-8 shows the remote contacts in the alarm state.

Insert the power cord into the Power inlet
power inlet module. Place the Reteining
retaining bracket (P/N 195763) Retaining
over the connector. Tighten

retaining screws to secure.

Figure 1-9. Power Cord Connection

Caution Sce the serial tag on the side of the unit for electrical specifications
or refer to the electrical schematics in this manual. A

Caution If the factory installed option water-cooled condenser is present,
do not turn the freezer on without water connected and flowing. Damage
to the refrigeration system could occur within 5 minutes if water is not
connected and flowing on unit start-up. Refer to Section 5. A

The freezer should be operated on a dedicated grounded service. Check the
voltage rating on the serial tag of the unit and compare it with the outlet
voltage. Then, with the power switch turned off, plug the line cord into
the wall outlet.

First, turn on the freezer power switch. Then open the lower front door by
grasping the bottom left corner. Locate the battery switch (Figure 1-5) and
turn it to Standby mode (O). During initial freezer start-up, the system
battery may require charging and the Low Battery indicator may
illuminate.

Caution Ensure the battery switch is turned to Standby mode (). The
rechargeable batteries require 36 hours to charge at initial start-up. A “Low
Battery” alarm may occur until the batteries are fully charged. Should a
power failure occur during the initial start-up period, the electronics will
have limited operation. A

Run mode is the default mode for the freezer. This mode displays the
cabinet temperature on the temperature display under normal operating
conditions. In addition, the Run mode allows display of the high stage heat
exchange temperature.

Thermo Scientific



Run Mode (cont)

Freezer Start-Up

Thermo Scientific

Set Operating
Temperature

Section 1
Installation and Start-Up

This information scrolls by pressing the up or down arrow keys. The display
returns to the operating temperature in 10 seconds if no keys are pressed.

With the freezer properly installed and connected to power, system set
points can be entered. The following set points can be entered in Settings
mode: Control temperature, high temperature alarm set point, low
temperature alarm set point, and (optional) BUS set point. Default settings
are shown in the table below.

Table 1-2. Default Settings

Default Settings Temperature
Control Set Point -80°C
High Temperature Alarm -70°C
Low Temperature Alarm -90°C
Optional BUS Set Point -60°C

Note If the set point is changed and the low temp and high temp alarms are
set 10° from the set point, the alarm set points will be adjusted
automatically to maintain a distance of at least 10° from set point. A

Caution If the factory installed option water-cooled condenser is present, do
not turn the freezer on without water connected and flowing. Damage to
the refrigeration system could occur within 5 minutes if water is not
connected and flowing on unit start-up. Refer to Section 5. A

Model 900 and 5900 Series freezers have an operating temperature range of
-50°C to -86°C, depending on ambient temperature. The freezer is shipped
from the factory with a temperature set point of -80°C. To change the
operating temperature set point:

1. Press the Mode key until the Set Temperature indicator lights.

2. Press the up/down arrow key until the desired temperature set point is
displayed.

3. DPress Enter to save the set point.

4. Press the Mode key until the Run indicator lights for Run mode

If no keys are pressed, the freezer will automatically return to RUN mode

after 5 minutes.

Note If the set point is changed and the low temperature and high
temperature alarms are set 10° from the set point, the alarm set points will
be adjusted automatically to maintain a distance of at least 10° from set
point. A

Model 900 and 5900 Series 1-9



Section 1
Installation and Start-Up

1-10

Set High Temperature

Alarm

Set Low Temperature

Model 900 and 5900 Series

Alarm

The high temperature alarm will activate an audible/visual warning when
the freezer chamber temperature has reached or exceeded the high
temperature alarm set point.

To set the high temperature alarm set point:
1. Press the Mode key until the Set High Alarm indicator lights.

2. Press the up or down arrow key until the desired high temperature
alarm set point is displayed.

3. DPress Enter to save the setting.

4. Press the Mode key until the Run indicator lights for Run mode

If no control keys are pressed, the freezer will automatically return to RUN
mode after 5 minutes.

Note The high alarm set point must be set at least 5°C from the control
set point. A

Note At initial start-up, the high temperature alarm is disabled until the
cabinet reaches set point or 12 hours elapse. A

The low temperature alarm will activate an audible/visual warning when
the freezer chamber temperature has reached or decrease below the low
temperature alarm set point.

To set the low temperature alarm set point:
1. Press the Mode key until the Set Low Alarm indicator lights.

2. Press the up or down arrow key until the desired low temperature
alarm set point is displayed.

3. Press Enter to save the setting.

4. Press the Mode key until the Run indicator lights for Run mode

If no control keys are pressed, the freezer will automatically return to RUN
mode after 5 minutes.

Note The low alarm set point must be set at least 5°C from the control set
point. A

Thermo Scientific



Calibrate Control

Probe

Temperature Stabilization

Thermo Scientific

Periods

Section2 Calibrate

Once the freezer has stabilized, the control probe may need to be
calibrated. Calibration frequency is dependent on use, ambient conditions
and accuracy required. A good laboratory practice would require at least an
annual calibration check. On new installations, all parameters should be
checked after the stabilization period.

Caution Before making any calibration or adjustments to the unit, it is
imperative that all reference instruments be properly calibrated. A

Plug a type T thermocouple reader into the receptacle located inside the
lower door (see Figure 1-5). Compare the control temperature set point to
the temperature of the measuring device.

1. Press the Mode key until the Calibrate indicator lights.

2. Press up/down arrow to match the display to calibrated instrument.

3. Press Enter to store calibration.

4. Press the Mode key to return to Run mode.

Startup - Allow 12 hours for the temperature in the cabinet to stabilize

before proceeding.

Already Operating - Allow at least 2 hours after the display reaches set
point for temperature to stabilize before proceeding.

During calibration, the temperature display will not be available. a

If no keys are pressed for approximately five minutes while in calibration
mode, the system will reset to Run mode.

Model 900 and 5900 Series 2-1



Section 3 Alarms

The Model 900 and 5900 Series freezer alarms are displayed on the freezer

control panel. When an alarm is active, the indicator next to the alarm

description will light and there will be an audible alarm. Press the Silence
key to disable the audible alarm for the ringback period. The visual alarm

will continue until the freezer returns to a normal condition. The alarms
are momentary alarms only. When an alarm condition occurs and then
returns to normal, the freezer automatically clears the alarm condition.

Table 3-1. Alarm Indicators

Description Delay Ringback Relay
Power Failure 1 min. 15 min. Yes
High Temperature Alarm 1 min. 15 min. Yes
Low Temperature Alarm 1 min. 15 min. Yes
Probe Failure see 3.2 1 min. 15 min. No
Door Open 1 min. 15 min. No
Wrong Power 0 min. none Yes
Low Battery* 1 min. 8 hours No
Low BUS Battery (optional) 1 min. 15 min. No
Hot Condenser 1 min. none No
High Stage Failure 0 min. 15 min. Yes
Micro Board Failure 0 min. 15 min. Yes

All alarm delays and ringback times are +30 seconds.

* The automatic battery test runs immediately on power-up, then every 8 hours thereafter.

Thermo Scientific

Model 900 and 5900 Series

3-1



Section 3
Alarms

3-2

High Stage System
Failure

Probe Failure Alarm

Model 900 and 5900 Series

The "high stage system failure” condition is created when the high stage
compressor and fans run for 30 minutes and are not capable of cooling the
interstage heat exchanger to the proper temperature. Under this condition,
the high stage compressor and fans will turn off after 30 minutes and an
audible and visual alarm will occur. The audible alarm can be silenced and
will ring back every 15 minutes.

The microprocessor in Model 900 and 5900 Series freezers continually
scans all probes including the control probe, heat exchanger probe and
condenser probe to ensure that they are operating properly. Should an
error be detected, the "Probe Failure" alarm will occur as described above.
If an error is detected with the control probe, the high and low stage
compressors will run continuously. As a result, the cabinet temperature
will decrease until it reaches the lowest temperature that the refrigeration
system can maintain. If an error is detected with the heat exchanger probe,
the freezer will cycle properly at its temperature set point using a 5 minute
step start between the high and low stage compressors. If an error is
detected with the condenser probe, there is no impact on the performance
of the freezer; however, the hot condenser alarm may also occur. Contact
the Technical Services department or your local distributor.

Thermo Scientific



Section 3
Alarms

Error Notes
Name: Improper model selected.
Er00 Description: Indicates that DIP SW3 has not selected a proper model or can't be accessed properly.
Response: Display shows “Er00” and will not start-up until a proper model is selected. Contact Technical Services.
ErAT This error condition will prevent peripherals (fans, compressors, etc.) from powering up with the incorrect voltage.
Name: Voltage/Frequency failure
£ _Descripti_on: Indicates the measured RMS line voltage di_d not agree with the logic level sensed by the micros provided_by the
installed high voltage PCB; or the measured RMS voltage is not within a tolerable range (180 < Vac < 270 for 230VAC unit / 85 <
Vac < 160 for 120VAC unit); or the frequency measured over 10 cycles was not within a tolerable range (55 Hz < Freq < 70 Hz for
Erd 60 Hz units / 40 Hz < Freq < 55 Hz for 50 Hz units)
Response: This condition is checked at power on reset and if it is active, the unit will NOT power up. The unit will indefinitely
display “Er_1" in the display and continue to monitor the frequency and voltage. Furthermore, the audible alarm will sound. Other
ErE1 startup error messages may be displayed prior to this message; however, the system will stop the startup sequence for this condi-
tion.
ErA1 .. No pulses (zero crossings) detected to determine frequency (50 / 60 Hz)
ErF1 ErC1 .. Frequency detected is below 50 Hz
Erd1 .. Frequency detected is above 60 Hz (possible noise spikes on supply voltage)
ErE1 .. Unit is 230V and the voltage detected is below the low limit (180VRMS)
Ergt ErF1 .. Unit is 230V and the voltage detected is above the high limit (260VRMS)
Erg? .. Unitis 120V and the voltage detected is below the low limit (85VRMS)
ErH1 ErH1 .. Unitis 120V and the voltage detected is above the high limit (160VRMS)
Name: Control (Cabinet) Sensor Failure
Description: This condition indicates that the control sensor has failed to produce a valid reading for >12 consecutive reads (~60
E102 seconds).
Response: The unit will stage both compressors on (if necessary) and the unit will attempt to head to bottom out. If the sensor
recovers, the system will begin to operate normally and respond to the temperature feedback. The remote alarm contacts will
become active. ‘Er02" will be added to the main display queue and the last valid cabinet temperature value will not be displayed.
Name: Heat Exchange Sensor Failure
E103 Description: This condition indicates that the heat exchange sensor has failed to produce a valid reading for >12 consecutive

reads (~60 seconds).
Response: The display will show “Er03” only when the button sequence to read the heat exchange sensor is depressed.

Thermo Scientific Model 900 and 5900 Series 3-3



Section 3
Alarms

Error (cont.) | Notes

Name: Display Firmware Integrity Failure
Description: The display firmware has failed to pass its CRC CCITT checksum integrity test.

Er05
Response: The display performs this check at startup and the display board will fail to startup without any error indication if it
does not pass this at power on.
Name: Micro Firmware Integrity Failure

Ei06 Description: The micro firmware has failed to pass its CRC CCITT checksum integrity test.
Response: This is checked at power on reset and the “Er06” will be displayed for ~10 seconds at startup if this condition
exists.
Name: Micro Fail - CS5521 SPI Failure / UISR Failure
Description: This condition indicates a micro board failure due to either the SPI bus is unable to communicate with the ADC
device or a UISR event caused the microcontroller to be in an unstable state.
Response: The unit will try to recover from this fault three times by a hardware reset of the micro board. In the event that the
system couldn't rectify the issue, the following sequence of events will occur:

Er07 1. Remote alarm contacts will become active.

2. Buzzer will annunciate audibly and will have a ringback of 15 minutes.

3. "Seven segment” display will show “Er07".

4. The system will have 10 minute staging between the high stage compressor and the low stage compressor activation.
5. The system will go to bottom out temperatures.

Name: Stuck Button
Er09 Description: This condition indicates that the display board has a stuck button.
Response: The Er09 will show on the display periodically.

Name: Condenser Probe Sensor Failure
Description: This condition indicates that the condenser probe sensor has failed to produce a valid reading for >12 consecutive

Ertt reads (~60 seconds).
Response: The display shows “Er11”.
dErr This is a general display error in which value being displayed can not be represented within characters provided.

Name: Lost Communication
Description: Communication between the micro board and the display board has been lost. Under this condition, the visual
alarm flashes along with dashes in the temperature display (----). Contact Technical Services.

(Four dashes)
---- in display

3-4 Model 900 and 5900 Series Thermo Scientific



Clean Cabinet Exterior

Clean Air Filter

Clean Condenser

Thermo Scientific

Section 4 Maintenance

Wipe down the freezer exterior using soap and water and a general use
laboratory disinfectant. Rinse thoroughly with clean water and dry with a
soft cloth.

Caution Avoid the excessive use of water around the control area due to
the risk of electrical shock. Damage to the controls may also result. A

The air filter should be cleaned four times a year, minimum.
1. Open the front lower door by grasping the bottom left corner.

2. Locate the grille on the door. See

Figure 4-1. Grasp the middle of the To
grille material and gently pull out to remove filter
remove. ;
e
3. Wash the filter material using water Aindaaann
and a mild detergent. R

4. Dry by pressing between two towels.

Figure 4-1. Filter Location

5. Install the filter back into the grille
and attach the grille.

The condenser should be cleaned once per year, minimum.
1. Open the front lower door by grasping the bottom left corner.

2. Using a vacuum cleaner, exercising care to not damage the condenser
fins, clean the condenser.

Depending upon environmental conditions, the condenser may need to be
cleaned more frequently.

Model 900 and 5900 Series ~ 4-1



Section 4
Maintenance

4-2

Clean Water-cooled
Condenser

CIP (Clean-In-Place) Procedure

Prepare Unit for
Storage

Model 900 and 5900 Series

[t is recommended that the water-cooled condenser be cleaned at least once
a year, more frequently when environmental conditions are relatively high
in particulates. The water-cooled condenser can be cleaned-in-place by
using the CIP procedure below. Cleaning solutions can be used, depending
on type of deposits or build-up to be removed. Follow manufacturer
precautions.

Note Do not use liquids corrosive to stainless steel or the brazing material
(copper or nickel). Do not use hydrochloric acid or muriatic acid. A

Disconnect the unit from the water supply.
Drain the unit.
Rinse with fresh water and drain the unit again.

Fill with fresh water.

hA N

Add cleaning agent (solution and concentration dependent on deposits

or build-up).

SN

Circulate cleaning solution (if feasible).
7. Drain the cleaning solution.

Add and circulate a passivating liquid for corrosion inhibition of plate
surfaces.

9. Drain this liquid.
10. Rinse with fresh water and drain.
11. Reconnect the water supply and fill the unit.

12. Return to service.

Defrost the unit as described in ‘Defrost Chamber’. This will prepare the
unit for storage. Turn off the freezer power switch and disconnect unit
from the power source. Turn off the battery power switch (O).

Note If the unit has been Battery power

in service, turn it off and switeh
disconnect the power ~ Thermocouple
cord connector before interconnect jack SVt
proceeding with any Battery mounting <

maintenance. A bracket j?%

& Freezer battery
and optional BUS battery

Figure 4-2. Battery Power Switch

Thermo Scientific



Section 4
Maintenance

Long Term Storage with  Caution To prevent permanent damage to the refrigeration system of this

Water-cooled Condenser  freezer, proper draining and preparation is required for long term storage.
The water-cooled condenser must be dry and sealed. If stored clean and

dry, restoring to service only requires a new in-line strainer filter, proper
A installation and water flow balancing per Section 5, Water Cooled
Condenser. A

Required: Cleaning solution, supply of dry air or N2

Note Do not use liquids corrosive to stainless steel or the brazing material
(copper or nickel). Do not use hydrochloric acid or muriatic acid. a

1. Turn the freezer off.

2. Drain and clean the unit following the procedure in this section, Clean
Water-cooled Condenser.

3. The condenser must be fully dry prior to storage. Use dry air to purge
and dry the condenser circuit as much as possible. Since the freezer is
not running, the internal valve will be closed and dry air cannot be
circulated through the loop. Allow the condenser to dry, open to the
air, until no moisture is seen at the connecting ports.

4. After the condenser water loop is dry, purge both the inlet and outlet
with nitrogen or dry air and cap the ports.

Note On restarting a freezer that has been stored for some time, it is
suggested to run the unit briefly, then check and clean the particulate
filter, if fitted, to ensure that no sediment or growth occurred in the
condenser during storage. A

Defrost Chamber

—

Remove all product and place it in another freezer.
. Turn the unit off and disconnect it from the power source.
. Turn off the battery switch (O). See Figure 4-2.
. Open all of the doors and place towels on the chamber floor.
. Allow the frost to melt and become loose.

. Remove the frost with a soft cloth.

NN N R W N

. After defrosting is complete, clean the interior with a non-chloride
detergent. Rinse thoroughly with clean water and dry with a soft cloth.

8. Plug unit in and turn power switch on.
9. Turn the battery power switch to Standby mode ().

10. Allow the freezer to operate empty overnight before reloading the
product.

Thermo Scientific Model 900 and 5900 Series 4-3



Section 4
Maintenance

4-4

Clean Door Gasket

Vacuum Relief Port

Model 900 and 5900 Series

The door gasket should be cleaned monthly, at minimum. Using a soft
cloth, remove any frost build-up from the gasket and door(s). The door
gasket may need to be cleaned more frequently if dirt or excessive frost build-
up prevents the door from closing properly.

The exterior door gasket provides an excellent seal to protect product,
provide an energy efficient thermal barrier to keep cold air in and room
temperature air out, and reduce frost build up on the inner doors.

Because the door gasket seals so well, a vacuum can be created after a door
opening. Warm air enters the cabinet, cools and contracts, creating a vacuum
that pulls the door in tightly against the seal.

To equalize the pressure inside the cabinet after a door opening requires 1.5-
3.0 cu.ft. of ambient air to be drawn into the cabinet. The amount of air
required to equalize the pressure varies depending on the cabinet size, cabinet
temperature, duration of door opening, inventory volume and the
temperature/humidity of the ambient air. The unit is designed with a
“vacuum relief port” that allows the pressure to be equalized.

The time required to draw 1.5-3.0 cu.ft. of air into the cabinet depends on
two factors:

a) size and number of paths available for air to enter the cabinet, and

b) pressure difference between internal cabinet and the ambient room.

Cabinets with the vacuum relief port operating normally, (i.e. vacuum relief
port is not iced over) will require a minimum of 30 seconds up to a
maximim of 120 seconds for the cabinet to equalize. This is also a good
indication that the exterior door is well sealed.

The vacuum relief port requires routine maintenance. It will ice over unless
preventive measures are taken. If the vacuum relief port becomes iced over,
the freezer will take several hours to equalize pressure.

Warning Do not leave the freezer unattended while the door is unlatched.
The vacuum could release, resulting in a door opening and product loss. A

Observe the inner side of port periodically for frost and ice build-up.
Remove any frost with a soft dry cloth. If the tube should become clogged
with ice, it must be cleaned. Make sure during cleaning that the vacuum
relief tube is completely free of ice to prevent rapid ice formation.

Factors that can affect the performance of the vacuum relief port include:
high ambient temperature, high humidity conditions and frequent door
openings. Maintenance should be performed weekly or as needed.

Warning Failure to maintain the vacuum relief port may result in excessive
ice build up inside the tube, clogging the port, and inability to open the
door. The vacuum relief port may need to be cleaned more often with
frequent door openings and high humidity environments. A

Thermo Scientific



Section 4
Maintenance

Check Battery(S) 1. To gain access to the battery, open the lower door by grasping the
bottom left corner. The battery is rectangular in shape, located on the
front left corner of the compressor compartment and is secured in
place by a mounting bracket.

2. Directly above the battery(s) is the battery power switch. Turn the
battery power switch to the off position (O).

3. Cut the tie wrap securing the battery to the mounting bracket. Lift the
battery out of the bracket.

4. Disconnect the red and black wires from the battery.

5. Use a voltmeter set to DC volts. Matching the wire colors, connect the
meter to the battery.

6. If the voltage reads less than 10.8 volts, replace the battery. If above
10.8, re-install as previously.

7. Turn the battery power switch to Standby mode (O).

8. Close lower panel door.

Replace Battery(s)

—

. To gain access to the battery, open the lower door by grasping the
bottom left corner. The battery is rectangular in shape, located on the
front left corner of the compressor compartment and is secured in
place by a mounting bracket.

2. Directly above the battery(s) is the battery power switch. Turn the
battery power switch to the off position (O).

. Disconnect the battery connections.
Remove the old battery and install the new battery.

3
4
5. Reconnect the battery (red to positive and black to negative).
6. Turn the battery power switch to Standby mode (O).

7

Close lower panel door.

Warning The % of charge can vary depending on the age, usage and
condition of the battery. For a consistent and dependable charge, replace
the battery every 2 years. Replacement batteries must be rechargeable and
are available from Thermo. Refer to the parts list for stock number and
description of the replacement batteries. Dispose of the used batteries in a
safe manner and in accordance with good environmental practices. A

Thermo Scientific Model 900 and 5900 Series 4-5



Section 4
Maintenance

PREVENTIVE MAINTENANCE

Freezers

Your equipment has been thoroughly tested and calibrated before shipment. Regular preventive maintenance is important to keep your
unit functioning properly. The operator should perform routine cleaning and maintenance on a regular basis. For maximum
performance and efficiency, it is recommended that the unit be checked and calibrated periodically by a qualified service technician.

The following is a condensed list of preventive maintenance requirements. See the specified section of the instruction manual for

further details.

We have qualified service technicians, using NIST traceable instruments, available in many areas. For more information on Preventive
Maintenance or Extended Warranties, please contact the Technical Services Department. Cleaning and calibration adjustment intervals

are dependent upon use, environmental conditions and accuracy required.

Tips:

e Fill an upright by starting at the bottom near the probe and add racks to one shelf at a time. Allow freezer to recover to set point

between shelves.

e Fill a chest by starting at the left side near the probe. Filling with room temperature racks will result in a long pull-down time.

e Fill unit with frozen product to help overall performance; frozen water jugs, for example.

e Always make certain the vacuum relief port is free of frost and ice, to allow for timely re-entry into the freezer after a door

opening.
Action Monthl Yearl Every
y ) Years
Verify ambient temperature, <90°F v
* Adjust door handle for firm latching, as needed v
v
Check and clean probe cover, gaskets, hinges and lid(s) of ice and snow. See More frequent cleaning may be
Figure 1-4 for probe location. See Section 4, Clean Door Gasket. required, depending on use and
environmental conditions.
Check air filter. Clean or replace as needed. See Section 4, Clean Air Filter. v 4X
Check alarm back-up battery. See Section 1, Connect Unit to Electrical Power -
) v Replace
and Section 4, Replace Battery(s).
Check condenser fan motor for unusual motor noise or vibration. v
* Verify and document calibration, at the minimum, annually. See Section 2, v
Calibrate.
* Clean condenser compartment and wipe off condenser. See Section 4, Clean v
Condenser.
Preventive Maintenance *Back-up System - inject test & battery. See Section 5. ¢/

To minimize ice build-up inside of freezer:

e Locate the freezer away from drafts or heating/cooling vents
e Keep the number of door openings to a minimum

*  Minimize the length of time door is open

e Make sure door latches securely after opening

4-6 Model 900 and 5900 Series

Thermo Scientific



Back Up System (BUS)
- P/N 1960445, 1960447

Install Vent Stack, Solenoid
and Injection Assembly

Thermo Scientific

section5 Factory Installed Options

Note Before installation of BUS components, make sure the power to the
freezer is disconnected, the battery switch is turned off (O) and the freezer
has warmed to ambient temperature. A

The built-in BUS (back up system) maintains the freezer chamber
temperature below the critical level in the event of a power or equipment
failure. If power to the freezer fails, or temperature increases to the back up
alarm set point, the BUS injects liquefied gas into the chamber to keep the
chamber temperature within the specified range.

The BUS operates on an internal 12-volt, rechargeable battery which is
kept charged during normal operation by the integral battery charger.

1. Install the injection assembly through the 1/2” pre-punched hole,
directly behind the 2” vent stack hole in the center of the chamber
ceiling.

Note Cover the open end of injection assembly with tape to keep
insulation from entering the nipple. A

2. Slide 3/8” flatwasher over open end of nipple.

3. Insert the covered end of the injection assembly through the exterior

hole.
4. Remove the tape covering from the end of the nipple and install the
1/8” NPT brass tee on the open end of the nipple. Place Permagum

sealant between the brass tee and the interior top.

5. Remove the two Phillips head screws securing the metal bracket on the
vent stack assembly.

6. Install the vent stack through the opening and secure it to the top of
the freezer, using screws.

Model 900 and 5900 Series 5-1



Section 5
Factory Installed Options

Install Vent Stack, Solenoid
and Injection (continued)

5-2

Model 900 and 5900 Series

5

IMUECTION —
ASSEMBLY \\ N
TRANSFER
HOSE
CLSTOMER T0 ORIENT
,,,/ T2 SUIT APPLICATION
E _ BRASS NIPPLE
. & 00" LONG
\/—/—’/ |

"‘\

. _,f’
Figure 5-1. Injectlon Assembly

Figure 5-2. Vent Stack Assembly

Thermo Scientific



Section 5
Factory Installed Options

Install Vent Stack, Solenoid 7. Inside the chamber, seal around the end of the vent stack with
and Injection (continued) Permagum.
8. Install the transfer hose connecting one end to the injection assembly,

the other to the solenoid valve. Connect the solenoid valve to the
supply source. The solenoid mounting bracket may be discarded.

Note When selecting a CO: supply cylinder, it must be equipped with a
siphon tube. A

Install Temperature Probe 1. Locate the 0.500” pre-punched hole in 195415
the upper left hand back corner of the E,"ﬁ,’f“”"“
chamber ceiling. Remove the tie wrap
securing the coiled probe/solenoid -
harness. Uncoil the probe lead and run Senall Tie
the probe tip (approximately 12”) down "™
through 0.500” porthole (Figure 5-4).

Z0ET
2. As shown in Figure 5-3, thread the small ~Bast-ue Prebe
tie wrap through the openings in the
front of the bracket. Secure the probe on
the back of the bracket with the tie wrap. Figure 5-3. Secure probe

3. Tap #8-32 the two

pre-punched holes  d
located on the interior ety Famgs
left wall of the freezer. 5300 Diamatar Hole e
in the Irgnrice Top
Mount the bracket. sz rpruath
Figure 5-4 shows the I @ =
Back-Up probe Optional BUS E X
mounted on the oribu brackst Ao
. . . mﬂ L
interior left side wall 832 UNG x 48" Long f #
of the freezer. Cisalens Steal _\\i A
L TR
e i
diametar holes
iri the uppar rear Gomsr
ol the et indnior shds l
1102
Cpsianal i Laaft
Sampie Sicks Wl
Preiae clip

Figure 5-4. Mounted probe clip

Thermo Scientific Model 900 and 5900 Series 5-3



Section 5
Factory Installed Options

5-4

Tie wrap
anchor
Spade lug ==
connections — Probe wire
to solenoid

“LBUS connection

Power switch
o (mains disconnect)

Remote Alarm
Contacts Power Outlet

Figure 5-5. Probe wire and solenoid connections

1. Remove the four screws on the freezer back panel and use them to

Connect Probe/Solenoid mount the tie wrap anchors as shown in Figure 5-5. Secure the probe

wire with tie wraps.
Harness P

2. Plug the solenoid/probe connector into the BUS connection and secure
with a screw on the right and left side. The connector is keyed.

3. Loosen the terminal screws on the solenoid. Slide the spade lug
connectors under the screws and tighten to secure.

4. Connect power to the freezer. Turn the freezer On, with battery switch

Off (O).
a. Arming on Power On

The arming function occurs only one time at initial power-on. It
may occur in 3 ways; BUS timeout arming, both sensors fail and
BUS temperature sensor arming.

At power-on, the BUS will perform a Hold-off period check. The
BUS will not inject the refrigerant for a Hold-off period, calculated
as follows:

Model 900 and 5900 Series Thermo Scientific



BUS Control Panel

Pk b

Thermo Scientific

Section 5
Factory Installed Options

Hold-off period:

* 12 hour is between 0 and +70C

* 12 hour is between 0 and (BUS Setpoint - Hysteresis)
* 0 hours is below (BUS Setpoint - Hysteresis)

* 0 hours is temperature Out Of Range or both probes fail.

b. The Low Battery indicator may also illuminate.
5. Turn the battery switch to Standby mode () to charge both batteries.

The following section describes the configuration and operation of the

BUS.

Warning When activated, this unit injects liquid nitrogen or carbon
dioxide. Liquid nitrogen can cause serious freezing (frostbite) if it comes in
contact with unprotected skin or eyes. Nitrogen suppresses oxygen levels
and may cause suffocation if area is not well ventilated. Refer to Appendix

A for the proper handling of liquid LNz. A

Caution Make sure the pressure relief valve on any LN tank is adjusted to
30 PSI maximum blow-off. A

Warning Carbon dioxide gas suppresses oxygen levels and may cause
suffocation if area is not well ventilated. Refer to “Handling Liquid CO2
in Appendix B of this manual. A

Backup System @

> Power > Low Battery > Solenoid Engaged Press to test

Figure 5-6. BUS Control Panel

Power - indicates the unit has AC power.

1. Normal Operation

® Low Battery: Illuminates only after a battery test which occurs every 8
hours. The battery test is a loaded test and during the test, the battery
voltage is monitored. When the battery voltage is less than a certain
threshold, this light will illuminate and stay illuminated until the next
battery test.

* Solenoid Engaged: Illuminates any time the controller is activating the
solenoid. Illumination will only occur when the controller senses the
solenoid is active and calling for injection.

Model 900 and 5900 Series 5-5



Section 5
Factory Installed Options

BUS Control Panel 2. Fault Code

(cont.) This same user interface will also permit fault codes to be easily viewed
when the user presses and releases the Press to Test button in less than
2 seconds. When this occurs, both the Low Battery LED and Solenoid
Engaged LED will blink twice ON/OFF quickly indicating that fault
code display mode is active. For the next ~10 seconds, the fault codes
will be displayed as shown in the table below. The display shows only

the lower number fault code until that fault is resolved.

Low Battery LED | Solenoid Engaged LED ;:::::)E:de Fault Code Definition
OFF OFF 0 Normal Operation

OFF Blinks 1 time 1 Primary Probe Failure
OFF Blinks 2 times 2 Secondary Probe Failure
OFF Blinks 3 times 3 Solenoid Driver Failure
OFF Blinks 4 times 4 Low Tank

Table 5-1. BUS Fault Codes

Each blink will take one second, with half of the second interval being
ON (illuminated) and the other half of the second interval being OFF.
After the sequence concludes, both the Low Battery LED and the
Solenoid Engaged LED will flash four times ON/OFF quickly to

indicate a return to normal display.

3. BUS Injection Test

The user must press and hold the Press-to-Test button for >= 2
seconds before injection occurs. After the Press-to-Test button is
pressed for >30 seconds, the solenoid will turn off. This will avoid a
button or button signal becoming stuck in an active condition.

During a Press-to-Test injection, if either RTD #1 or RTD #2 reads a
temperature less than 20°C below BUS set point and it is determined
to be a valid input, then injection will terminate immediately.

4. BUS Set point “Validation” Feedback

Whenever the BUS set point or working fluid changes, the BUS
acknowledges the set point acceptance by causing the Low Battery
LED and Solenoid Engaged LED to blink three times ON/OFF
quickly. This does not imply that the BUS error-checked the values,
other than that the value received was within the range of the BUS
working correctly with prior programming,.

Note Solenoid will not engage if door is open. A

56 Model 900 and 5900 Series Thermo Scientific



BUS Control Panel

Section 5
Factory Installed Options

Caution The back-up system is designed to inject refrigerant (CO: or

(cont.) LN2).In the unlikely event of both probes failing, the back-up system will

operate in PWM or Non-PWM mode based on jumper setting (Figure 5-
7). A
For Hysteresis & Dual probe fault mode settings (Figure 5-7), locate
Jumper J17 near to solenoid/ sensor connector (J1), refer to table below
for operation details:

Jumper PIN Status Hysteresis Dual Probe Fault Mode

J17PIN 1 &PIN 2 | Short Together/ Jumper Cap Installed 5°C Non-PWM Mode

J17PIN 1T &PIN 2 | Open/No-Jumper Installed 9°C PWM Mode

able 5-2. Probe Fault Modes

PWM mode: If both probes fail, the solenoid will activate peridically,
allowing the flow of refrigerant (CO2 or LN2).

Non-PWM mode: If both probes fail, the solenoid remains OFF and no

refrigerant will flow.

Figure 5-7. Jumper Cap for Hysteresis & Dual Probe Fault Mode Selection

Configure Optional BUS
(Back-Up System)

Thermo Scientific

The optional BUS can be configured for LNz or COz2 supply. To select the
supply type:

1. Press the Mode key until the Backup indicator lights.

2. Press the up or down arrow key. The display will show “cO2” or
“Ln2” for selection.

3. DPress Enter to save the setting.
4. Press the Mode key until the Run indicator lights for Run mode

If no control keys are pressed, the freezer will automatically return to to
RUN mode after 5 minutes.

Model 900 and 5900 Series 5-7



Section 5
Factory Installed Options

5-8

Set Optional BUS Set
Point

Test BUS Operation

Clean Vent Stack

Model 900 and 5900 Series

The optional back up system is designed to inject CO2 or LNz into the
freezer compartment if the temperature rises above back up system set
point. To set the BUS set point:

1. Press the Mode key until the Set Temperature and Backup indicators
light.

2. Press the up or down arrow key until the desired BUS set point is
displayed.

3. DPress Enter to save the setting.
4. Press the Mode key until the Run indicator lights for Run mode

If no control keys are pressed, the freezer will automatically return to to
RUN mode after 5 minutes.

Warning Changing the operating temperature set point can affect the BUS
set point. The BUS set point will self-adjust to maintain a temperature of
at least 10°C above the operating temperature set point. A

Note The BUS set point can not be set any colder than the high
temperature alarm set point. (See Section 1, Set High Temperature
Alarm). If the back-up system is installed with CO2, then -65°C is the
coldest BUS set point that can be used (if the cabinet set point is -75°C or
colder). A

After the freezer has stabilized and both batteries are fully charged, the
BUS can be tested to verify proper operation.

[a—y

Disconnect the AC power to the freezer by turning power switch off.

2. As the freezer warms up, verify the BUS injects at the desired
temperature. Displayed temperature may vary by a few degrees from
inject temperature due to the differences in probe locations.

3. Preventive Maintenance - Monthly maintenance action to check CO:
or LNz back-up system operation, and battery voltage.

- Check for fault codes on the BUS probe per Table 5-1. Also verify

solenoid operation by performing a Press-To-Test.

Routinely check the vent stack for frost or ice build-up. The type of frost
that forms in the vent stack is generally very soft and may be easily
removed with a bristle brush or soft cloth. If ice build-up has occurred, a
complete defrost may occasionally be required. See Section 4 for freezer
defrost instructions.

Thermo Scientific



Section 5
Factory Installed Options

Disconnect Fitting Asm. To disconnect the freezer back-up from the gas supply:
and Transfer Hose 1. Close the supply valve.

2. Depress the test button on the BUS control box to remove the gas
from the line.

3. Slowly disconnect the fitting assembly from the supply (in the event
that any gas remains in the line).

Chart Recorder The following section describes the set up and operation of the optional

chart recorder.

9-volt battery

Program selection and
calibration buttons —|

=)

Green LED -

Figure 5-8. Recorder Details
Installing the Chart Paper 1. Open the plastic door of the recorder and press button #3 until the
pen begins to move outward.
2. Unscrew the knob at the center of the chart and remove the paper.

3. Install the new chart paper, position the paper to the correct time line

and replace the knob.

4. Remove the cap from the felt pen and press button #3.

Change Recorder The chart recorder contains eight factory programmed temperature ranges.
Temperature Range  To change the recorder range:

1. Press and hold button #3 for one second, then let the pen move off the
chart paper.

2. Press and hold for five seconds either button #1 or button #2.

Thermo Scientific Model 900 and 5900 Series 59



Section 5
Factory Installed Options

Change Recorder
Temperature Range
(cont.)

Recorder Calibration

Water-cooled
Condenser

5-10 Model 900 and 5900 Series

3. Release button and the green LED begins to ' Program From  To

flash. Count the number of flashes to

' . 1 40 30°C
determine the present program setting. 5 0 50°C
4. To change the program setting, press the left 3 100 38°C
or right arrows to increase or decrease the 4 5 50°C
count. 5 0 100°C
5. When the desired program number is 6 100 200°C
flashing, press button #3 to bring the pen 7 115 50°C
Erm‘ bé.le Ento the chart. Recording will 8 10 20°C
t .
cgin th the new program Table 5-3. Recorder Temp

Range

Note The recorder must be in service for 24 hours before performing the
following calibration procedure. A

1. Place an accurate thermometer in the chamber next to the recorder
probe. Temperature probes for the recorder are located in the left front
corner of the freezer chamber (Figure 1-4).

2. After about three minutes, compare the thermometer reading with the
chart recorder reading.

3. If an adjustment is necessary, press the #1 button to move the pen to
the left or the #2 to move the pen to the right. The button must be
held about five seconds before the pen begins to move. Release the
button when the pen position matches the thermometer.

Note The felt-tip pen on the recorder requires periodic replacement. The
ink will appear to fade before replacement becomes necessary. Additional
pen tips may be purchased from Thermo. A

The water-cooled condenser is a factory installed option (195964 [13 cu
ft], 195965 [17, 23, 28 cu ft], 195967 [12, 17, 20 cu ft chest]) and
requires a qualified technician at freezer installation. Refer to Table 5-4 for
the specifications for this option.

Table 5-4. Water-Cooled Condenser Specifications

Water Pressure Not to exceed 90 psi (620.5 kpa)
Water Temperature Range Not to exceed 29.4°C (85°F)
Inlet Connection 1/2" NPT

Outlet Connection 1/2" NPT

Flow Rate Required (minimum) 1.0 gallons (3.8 liters) per minute

Thermo Scientific



Water-cooled
Condenser (cont.)

Thermo Scientific

Section 5
Factory Installed Options

Water Quality: Free of particulates that could cause a blockage, or impair
function of the regulating valve or heat exchanger. A stainless steel inline
strainer is factory installed in the inlet pipe to minimize particulates in the
water supply.

Water Drainage: If water return line labeled WATER OUTLET is not
connected to a closed loop chiller system, connect the return line water to
a reservoir tank or drain. This will hold/dispose of the water from the
freezer to avoid flooding.

To verify operating requirements, you will need:

* a flowmeter capable of measuring up to at least 5.3 gallons (20 liters)
per minute to measure flow rates at the water return line labeled

WATER OUTLET.

® a pressure gauge ranging from 0 to 300 psig to measure pressure at the
water inlet labeled WATER INLET.

e a thermocouple or other temperature monitor to measure the water

temperature near the water inlet fitting labeled WATER INLET.

Clearance: Before installing the water connections, position the freezer
with an extra 2 inches (5cm) clearance in back for a hose. This is in
addition to the 6 inches (15cm) clearance in back previously
recommended in this manual.

Caution When using multiple freezers in a water loop, proper water flow
and inlet temperature must be maintained for EACH freezer in the loop.
It is recommended that a valve be installed in the supply line of each
freezer to facilitate a balanced flow rate.

If the number of freezers in a loop is more than 5, it is recommended that
one freezer be started at a time and tested to verify water flow, before
starting all and allowing to run. Water flow of at least 1 gpm, at or below
the maximum allowed inlet temperature, is required. Values higher than
minimum are acceptable. Do not allow the freezer to continue to run
with no observed water flow within several seconds of the compressor
starting. A

Recommended Bypass Water Loop Assembly: The bypass loop contains
fittings, a valve, and a flowmeter to simulate the presence of a freezer and
allows for balancing of the entire water supply system to ensure that 1 gpm
is available for each freezer in the loop before the freezers are started.
Values higher than minimum are acceptable. Do not adjust the valve
inside the deck of the freezer. It is pre-set at the factory.

Model 900 and 5900 Series 5-1



Section 5
Factory Installed Options

Water-cooled Option A: Install the bypass instead of a freezer (Figure 5-9).
Condenser (cont_) Option B: Install the bypass permanently (Figure 5-9) so that all

freezers can be left connected but water flow can be simulated using
the bypass without turning on all freezers.

T
Shut Off and Permanent
VV\'::::: Air Vent Flowmeter
[
\\
ﬁ )
Tower or Chilled Cold Water |
Recirculating
Water CH G L
CH
ULT1 ULT2
ULT n
Option B:
Permanent
Option A Byp:sls with
Bypass with 2V
Cyp Warning: See
onnectors, NOTE in Text
Valve, and
Flowmeter

Figure 5-9. Bypass Water Loop Options

Caution If Option B is used, the bypass valve MUST be closed prior to
freezer operation to ensure all water passes through the freezer rather than

the bypass. Failure to do this will result in damage to the freezer.
Water Connections  To install the water connections:

1. It is recommended to install automatic air purge vents near the water
inlet (or in each branch circuit in larger systems) to ensure air is
purged from the lines as the system operates.

2. Remove the caps from the WATER INLET/WATER OUTLET

fittings on lower back of the freezer.

Caution Thread sealant or Teflon® tape is highly recommended for use on
threaded fittings. A

3. Make sure the water line is clear of blockage or debris.

4. Connect the incoming water supply line to the WATER INLET
fitting.

5. Connect the water return/drain line to the WATER OUTLET fitting.

6. Adjust to specified operating standards (pressures, temperature).

5-12 Model 900 and 5900 Series Thermo Scientific



Section 5
Factory Installed Options

Water Connections 7. Turn on water flow to the unit.
(cont.) Check for leakage. Close bypass, if
' installed.

8. Refer to the Installation and Start-Up
section of this manual before starting
the freezer.

9. Adjust the water flow rate. Note that
the water will not flow through the
outlet until the first stage compressor
is running. Do not confuse the fan
running with the compressor start-up.

. Figure 5-10. Inlet/Outlet Fittings
Caution Only authorized service

personnel should turn the freezer on without water connected and flowing.
A

Caution See Bypass Water Loop Assembly information, if required. A

Five Inner Door The five inner door option (P/N 189405 [13 cu ft], 189406 [17 cu ft],
Opti on 189407 [23 cu ft], 195652 [28 cu ft]) is factory installed. The freezer is
converted to accommodate four adjustable specimen shelves with the fifth
“shelf” as the bottom of the freezer chamber.

5-13 Model 900 and 5900 Series Thermo Scientific



Section 6 Specifications
Single Door Units

Catalog No. 902 \ 903 \ 909

Temperature Range -50°C (-58°F) to -86°C (-123°F) in an 18C to 32C * (64.4F to 89.6F) ambient

33.3"Wx 77.9"Hx 329" F-B

Exterior Dimensions | o . = 197.9cm x 84.6¢m)

. . . 23.0"W x51.5"Hx 19.3" F-B
Interior Dimensions

(58.4cm x 130.8cm x 49.0cm)
Capacity 13.0 cu. ft. (368.1 liters)
Refrigeration Two 1 HP (2545 BTUH each)
Insulation Non CFC, foamed-in-place urethane: 5.0" (12.7cm) cabinet; 4.5 (11.4 cm) door
Electrical - nominal 230VAC, 50 Hz, 12.0 FLA 120VAC, 60 Hz, 16.0 FLA 208-230VAC, 60 Hz, 12.0 FLA
voltage +10% Operating Range: 208VAC-240VAC | Operating Range: 108VAC-130VAC | Operating Range: 208VAC-240VAC
Breaker Requirements 15 Amp, Dedicated Circuit, 20 Amp, Dedicated Circuit, 15 Amp, Dedicated Circuit,
9 15 Amp Time Delay Breaker 20 Amp Time Delay Breaker 15 Amp Time Delay Breaker
Shipping Weight 696 Ibs. ( 316 kg)
Catalog No. 904 905 910

Temperature Range -50°C(-58°F) to -86°C(-123°F) in an 18C to 32C * (64.4F to 89.6F) ambient

33.3"Wx 779" Hx 38.9" F-B

Exterior Dimensions (84.66m x 197.9cm x 94 0cr)

23.0"W x 51.5"H x 25.3" F-B

Interior Dimensions (56.4cm x 130.8cm x 64.3¢m)

Capacity 17.3 cu. ft. (489.9 liters)
Refrigeration Two 1 HP (2545 BTUH each)
Insulation Non CFC, foamed-in-place urethane: 5.0" (12.7cm) cabinet; 4.5 (11.4 cm) door
Electrical- nominal 120VAC, 60 Hz, 16.0 FLA 230VAC, 50 Hz, 12.0 FLA 208-230VAC, 60 Hz, 12.0 FLA
voltage +10% Operating Range: 108VAC-130VAC | Operating Range: 208VAC-240VAC | Operating Range: 208VAC-240VAC
Breaker Requirements 20 Amp, Dedicated Circuit, 15 Amp, Dedicated Circuit, 15 Amp, Dedicated Circuit,

9 20 Amp Time Delay Breaker 15 Amp Time Delay Breaker 15 Amp Time Delay Breaker
Shipping Weight 763 Ibs. ( 346 kg)

Thermo Scientific Model 900 and 5900 Series 6-1



Section 6
Specifications

Catalog No.

906

956

957

Temperature Range

-50°C (-58°F) to -86°C (-123°F) in an 18C to 32C * (64.4F to 89.6F) ambient

Exterior Dimensions

40.8"W x 77.9" H x 38.9” F-B (103.6cm x 197.9cm x 94.0cm)

Interior Dimensions

30.6"W x 51.5"H x 25.3" F-B (77.7cm x 130.8cm x 64.3cm)

Capacity

23.0 cu. ft. (651.3 liters)

Refrigeration

Two 1 HP (2545 BTUH each)

Insulation

Non CFC, foamed-in-place urethane: 5.0" (12.7cm) cabinet; 4.5" (11.4 cm) door

Electrical- nominal
voltage +10%

230VAC, 50 Hz, 12.0 FLA
Operating Range: 208VAC-240VAC

120VAC, 60 Hz, 16.0 FLA
Operating Range: 108VAC-130VAC

208-230VAC, 60 Hz, 12.0 FLA
Operating Range: 208VAC-240VAC

Breaker Requirements

15 Amp, Dedicated Circuit,
15 Amp Time Delay Breaker

20 Amp, Dedicated Circuit,
20 Amp Time Delay Breaker

15 Amp, Dedicated Circuit,
15 Amp Time Delay Breaker

Shipping Weight

900 Ibs. (408 kg)

Catalog No.

907

908

Temperature Range

-50°C (-58°F) to -86°C (-123°F) in an 18C to 32C * (64.4F to 89.6F) ambient

Exterior Dimensions

46.8"W x 77.9" Hx 38.9" F-B (118.9cm x 197.9cm x 94.0cm)

Interior Dimensions

36.6"W x 51.5"H x 27.0" F-B (93.0cm x 130.8cm x 68.6cm)

Capacity

28.0 cu. ft. (792,8 liters)

Refrigeration

Two 1 HP (2545 BTUH each)

Insulation

Non CFC, foamed-in-place urethane: 5.0" (12.7cm) cabinet; 4.5” (11.4 cm) door

Electrical- nominal voltage

+10%

230VAC, 50 Hz, 12.0 FLA

Operating Range: 208VAC-240VAC

208-230VAC, 60 Hz, 12.0 FLA

Operating Range: 208VAC-240VAC

Breaker Requirements

15 Amp, Dedicated Circuit,
15 Amp Time Delay Breaker

15 Amp, Dedicated Circuit,
15 Amp Time Delay Breaker

Shipping Weight

1070 Ibs. (485 kg)

Catalog No.

990

995

989

Temperature Range

-50°C(-58°F) to -86°C(-123°F) in an 18C to 32C * (64.4F to 89.6F) ambient

Exterior Dimensions

40.8"W x 77.9" H x 38.9" F-B (103.6cm x 197.9cm x 94.0cm)

Interior Dimensions

30.6"W x 51.5"H x 25.3" F-B (77.7cm x 130.8cm x 64.3cm)

Capacity

23.0 cu. ft. (651.3 liters)

Refrigeration

Two 1 HP (2545 BTUH each)

Insulation

Non CFC, foamed-in-place urethane: 5.0" (12.7cm) cabinet; 4.5” (11.4 cm) door

Electrical- nominal
voltage +10%

120VAC, 60 Hz, 16.0 FLA
Operating Range: 108VAC-130VAC

230VAC, 50 Hz, 12.0 FLA
Operating Range: 208VAC-230VAC

208-230VAC, 60 Hz, 12.0 FLA
Operating Range: 208VAC-230VAC

Breaker Requirements

20 Amp, Dedicated Circuit,
20 Amp Time Delay Breaker

15 Amp, Dedicated Circuit,
15 Amp Time Delay Breaker

15 Amp, Dedicated Circuit,
15 Amp Time Delay Breaker

Shipping Weight

900 Ibs. (408 kg)

Model 900 and 5900 Series

Thermo Scientific




Double Door Units

Section 6
Specifications

Catalog No.

991

992

986

Temperature Range

-50°C (-58°F) to -86°C (-123°F) in an 18C to 32C * (64.4F to 89.6F) ambient

Exterior Dimensions

33.3"Wx779"Hx 329" FB
(84.6cm x 197.9cm x 83.6cm)

Interior Dimensions

23.0"W x 51.5"H x 19.3" F-B
(58.4cm x 130.8cm x 49.0cm)

Capacity

13.0 cu. ft. (368.1 liters)

Refrigeration

Two 1 HP (2545 BTUH each)

Insulation

Non CFC, foamed-in-place urethane: 5.0" (12.7cm) cabinet; 4.5 (11.4 cm) door

Electrical- nominal
voltage +10%

230VAC, 50 Hz, 12.0 FLA
Operating Range: 208VAC-240VAC

120VAC, 60 Hz, 16.0 FLA
Operating Range: 108VAC-130VAC

208-230VAC, 60 Hz, 12.0 FLA
Operating Range: 208VAC-240VAC

Breaker Requirements

15 Amp, Dedicated Circuit,
15 Amp Time Delay Breaker

20 Amp, Dedicated Circuit,
20 Amp Time Delay Breaker

15 Amp, Dedicated Circuit,
15 Amp Time Delay Breaker

Shipping Weight

696 Ibs. (316 kg)

Catalog No.

993

994

988

Temperature Range

-50°C (-58°F) to -86°C (-123°F) in an 18C to 32C * (64.4F to 89.6F) ambient

Exterior Dimensions

33.3"Wx 779" Hx38.9"FB
(84.6cm x 197.9cm x 94.0cm)

Interior Dimensions

23.0"W x51.5"Hx 25.3" F-B
(84.6cm x 130.8cm x 64.3cm)

Capacity

17.3 cu. ft. (489.9 liters)

Refrigeration

Two 1 HP (2545 BTUH each)

Insulation

Non CFC, foamed-in-place urethane: 5.0" (12.7cm) cabinet; 4.5 (11.4 cm) door

Electrical- nominal
voltage +10%

120VAC, 60 Hz, 16.0 FLA
Operating Range: 108VAC-130VAC

230VAC, 50 Hz, 12.0 FLA
Operating Range: 208VAC-240VAC

208-230VAC, 60 Hz, 12.0 FLA
Operating Range: 208VAC-240VAC

Breaker Requirements

20 Amp, Dedicated Circuit,
20 Amp Time Delay Breaker

15 Amp, Dedicated Circuit,
15 Amp Time Delay Breaker

15 Amp, Dedicated Circuit,
15 Amp Time Delay Breaker

Shipping Weight

763 Ibs. (346 kg)

Thermo Scientific

Model 900 and 5900 Series 6-3



Section 6
Specifications

Certifications
Declaration of Conformity is available upon request

Safety Specifications

Indoor Use Only

Altitude - up to 2,000 meters

Temperature - 5°C to 43°C

Humidity - Maximum RH 80% for temperatures up to 31°C, decreasing linearly to 50% RH at 40°C

Mains Supply Fluctuations - Mains supply voltage fluctuations not to exceed +10% of the nominal voltage
Installation Category Il 1

Pollution Degree 2 2

Class of Equipment |

Intended Use
This product is intended for use as a General Purpose Laboratory Freezer for storing samples or inventory between -50 and -86C.

Unintended Use
This unit is not intended for use in an explosive environment, nor to be used for the storage of flammable inventory. This unit is not intended for
use in a Class Il medical application as defined by Title 21 of the Federal Code of Regulations.

Fluorinated Greenhouse Gases
Compliant with Regulation(EU) No 517/2014 of the European Parliament and of the council on fluorinated greenhouse gases.

This product contains fluorinated greenhouse gases in a hermetically sealed system. This product contains foam blown with fluori-
nated greenhouse gas, R-245fa. If a leak in the sealed system is detected, the operator shall repair without undue delay.

For ULT models rated 230V/50Hz, intended for import into the EU, the following sizes are designed for use with the following
amounts of fluorinated greenhouse gases:

1st Stage 2nd Stage
Size (f3) Refrigerant Amount (kg) GWP Refrigerant Amount (kg) GWP
13 R-404a 0.723 3922 R-508b 0.306 13 396
17 R-404a 0.751 3922 R-508b 0.388 13 396
23 R-404a 0.751 3922 R-508b 0.425 13 396
28 R-404a 0.652 3922 R-508b 0.397 13 396

1 Installation category (overvoltage category) defines the level of transient overvoltage which the instrument is designed to withstand safely. It depends on the nature of
the electricity supply and its overvoltage protection means. For example, in CAT II which is the category used for instruments in installations supplied from a supply
comparable to public mains such as hospital and research laboratories and most industrial laboratories, the expected transient overvoltage is 2500V for a 230V supply and

1500V for a 120V supply.

2 Pollution degree describes the amount of conductive pollution present in the operating environment. Pollution degree 2 assumes that normally only non-conductive

pollution such as dust occurs with the exception of occasional conductivity caused by condensation.

6-4 Model 900 and 5900 Series Thermo Scientific



Section 7
Parts

103308, 13 & 17 CF DOOR GASKET
103309° 23 CF DOOR GASKET &
103310, 28 CF DOOR GASKET (162

L/

T

195170,
1951711,

I3 & I7 CF INNER DOOR "4 DOOR"
23 CF INNER DOOR "4 DOOR"

e8 CU. FT. INNER DOOR

= F o=

ﬁﬂl
S

o

UPRIGHT FREEZER
ASSEMBLY

902-200-1-B REV 4
PAGE 1 OF 2

Thermo Scientific

Model 900 and 5900 Series

7-1



Section 7

Parts

1-2

BILL OF MATERIALS
ITEM NO.| PART NO PART DESCRIPTION
1 20003 1/4-20 X 3/4 SS HH CAP SCREW
2 22053 #8-32 X 1/2 SS PHP SCREW
3 22115 #6-32 X 1/4 SS PHP SCREW
4 23009 #6-32 SS HEX NUT
5 23020 #6 SS FLAT WASHER
6 23021 #8 SS FLAT WASHER
7 23023 1/4 SS FLAT WASHER
8 23043 NYLON FLAT WASHER
9 23044 1/4" NYLON SHOULDER WASHER
10 23062 1/4 SS EXT TOOTH LOCKWASHER
11 23080 #8 SS SPRING LOCKWASHER
12 24032 #8-32 X 3/8 SS PHP SCREW F POINT
13 24042 #8-32 X 1/2 SS PHP SCREW F POINT
14 25018 1/8 X 1/4 SS POP RIVET
15 59008 #8-32 X 7/8 SS PHP SCREW
16 103308 | 13/17 CU.FT. SINGLE DOOR FRAME GASKET
17 114020 | 5/8" X 1/2" ID GROMMET
18 116077 FRONT PANEL HINGE
19 116092 EXTERIOR FREEZER DOOR HINGE
20 120400 | BLACK PLASTIC KNOB
21 121099 | FRZ CAM LATCH STRIKE
22 189921 EXTERIOR BACK 13 & 17
23 195169 | LATCH TAB
24 195170 | 13/17 CU.FT. INNER DOOR
25 195866 | PROBE GUARD
26 195867 | PROBE MOUNT
27 195830 | UR DOOR WIREWAY COVER PLATE
28 195900 | MAGNETIC SWITCH
29 30033 RT. ANGLE STRAIN RELIEF
30 500177 | PILASTER STRIPS
31 515083 | 1/4 DIA. X 1/4L SS SPACER
32 22115 #6-32 X 1/4 SS PHP SCREW
33 23009 #6-32 SS HEX NUT
34 23020 #6 SS FLAT WASHER
35 23021 #8 SS FLAT WASHER
36 23043 NYLON FLAT WASHER
37 23044 1/4" NYLON SHOULDER WASHER
38 23080 #8 SS SPRING LOCKWASHER
39 59008 #8-32 X 7/8 SS PHP SCREW
40 120400 | BLACK PLASTIC KNOB
41 195169 | LATCH TAB
42 515083 | 1/4 DIA. X 1/4L SS SPACER
43 1950217 | 28 CU. FT. INNER DOOR
44 1950218 | 28 CU.FT. INNER DOOR LATCH GUIDE
45 116090 | FRONT PANEL HINGE
46 24030 8 X 1/2 ZP PHP SCREW TEKS

UPRIGHT FREEZER
ASSEMBLY

902-200-1-B REV 4
PAGE 2 OF 2

Model 900 and 5900 Series

Thermo Scientific



Section 7

195172, 13 & 17 CF INNER DOOR
195174, 23 CF INNER DOOR

103063, 13 & 17 CF DOOR GASKET
103064, 23 CU DOOR GASKET

195173, 13 & 17 CF INNER DOOR
195175, 23 CF INNER DOOR

Exploded Drawing
Model:
900 and 5900 Series
UR Freezer Assembly

991-200-2-D Rev. 4
Page 1 of 2

Thermo Scientific

Model 900 and 5900 Series

Parts

7-3



Section 7
Parts

REV[ECNNO. | DATE | BY | CAD | APPD DESCRIPTION OF REVISION
1 |FR-2409 |10-1112 [AJC | KDG | DRP |RELEASE 8, CHANGE 121069 TO 121099
2 | FR-2574 {01-03-14 [ MAM | KDG | DRP [PILASTER MOUNTING, SCREWS TO POP RIVETS
3 |FR-2603 [02-18-14 | CRM | KDG | DRP |(2) CENTER DD HINGES, 116093 TO 116092
4 | FR-2941 {05-01-17 | KMB | KDG 195874 70 195830 & 330010 TO 30033
BILL OF MATERIALS
ITEMNO.| PARTNO. PART DESCRIPTION
1 20003 1/4-20 X 3/4 SS HH CAP SCREW
2 22053 | #8-32 X 1/2 SS PHP SCREW
3 22115 #6-32 X 1/4 SS PHP SCREW
4 23009 | #6-32 SS HEX NUT
5 23020 | #6 SS FLAT WASHER
6 23021 #8 SS FLAT WASHER
7 23023 1/4 SS FLAT WASHER
8 23043 NYLON FLAT WASHER
9 23044 1/4" NYLON SHOULDER WASHER
10 23062 1/4 SS EXT TOOTH LOCKWASHER
1 23080 | #8 SS SPRING LOCKWASHER
12 24032 | #8-32 X 3/8 SS PHP SCREW F POINT
13 24042 | #8-32 X 1/2 SS PHP SCREW F POINT
14 25018 1/8 X 1/4 SS POP RIVET
15 59008 | #8-32 X 7/8 SS PHP SCREW
16 103063 | DOUBLE DOOR FRAME GASKET
17 114020 | 5/8" X 1/2" ID GROMMET
18 116069 | FRONT PANEL HINGE
19 116077 | FRONT PANEL HINGE
20 116092 | EXTERIOR FREEZER DOOR HINGE
21 120400 | BLACK PLASTIC KNOB
22 121099 | FRZ CAM LATCH STRIKE
23 195169 | LATCH TAB
24 195172 | 13/17 CU. FT. INNER DOOR, TOP
25 195173 | 23 CU. FT. INNER DOOR, TOP
26 195866 | PROBE GUARD
27 195867 | PROBE MOUNT
28 195830 | UR DOOR WIREWAY COVER PLATE
29 189921 | EXTERIOR BACK 13 & 17
30 195900 | MAGNETIC SWITCH
31 30033 | RT.ANGLE STRAIN RELIEF
32 500177 | PILASTER STRIPS
33 515083 | 1/4 DIA. X 1/4L SS SPACER
34 24030 | 8 X 1/2 ZP PHP SCREW TEKS
THIS DOCUMENT CONTAINS PROPRIETARY |MODEL/PART NAME: UP-RIGHT FREEZER
B DISCLOSED T0 OTHERS FORANY PURPOSE NOR | NG TITLE. UP-RIGHT FREEZER ASSENBLY Exploded Drawing
USED FOR MANUFACTURING PURPOSE WITHOUT Model:
WRITTEN PERMISSION FROM THERMO FISHER SCIENTIFIC [DWN: KDG ‘CAD‘ kDG ‘APPD: DRP ‘DATE: 06-15-11 |SCALE: 0.094 900 and 5900 Series
MATERTAL: N/A UR Freezer Assembly
ThermoFisher PAINT: N/A
SCIENTIFIC TOLERANCE UNLESS OTHERWISE SPECIFIED DRANING NUMBER size| 991-200-2-D Rev. 4
ANGLES: DECIMAL: XXz Page 2 of 2
BOX 649, MARIETTA, OHIO 45750 xxxTt 99 ‘ 720072 B

7-4 Model 900 and 5900 Series Thermo Scientific



Section 7
Parts

195774, 23 CU. FT. UPRIGHT FREEZER DOOR
195775, 28 CU. FT. UPRIGHT FREEZER DOOR

T

a2 .

900 Single Door BOM Assembly 902-201-1-B Rev. 8
Page 1 of 2

(F-TS -86)

Thermo Scientific Model 900 and 5900 Series 7-5



Section 7

Parts

7-6

BILL OF MATERIALS
M PRRT o, PART DESCRIPTION
| 20003 |1/4-20 X 3/4 SS HH CAP SCREW
2 20058  |#1/4-20 X 3/4 SS FHP UC SCREW
3 22053 |#8-32 X 1/2 SS PHP SCREW
4 23033 |1/4 SS INTERNAL TOOTH LOCK WASHER
5 23057 |5/8 WAVE WASHER
6 20016 |46 X 1/2" S5 PHP SCREW AB POINT
7 20032 |48-32 X 3/8 SS PHP SCREW F POINT
8 25040 |46 U SPEED NUT STL. STL.
g 30033 |RIGHT ANGLE STRAIN RELIEF
10 | 121092 |.856" OD FLAT WASHER
1| 120098 [FINISHED HANDLE/LATCH ASSEMBLY "WHT"
12 | 120102 |[CAM LATCH MOUNT
13| 132014 [HEATER, 3W, 14VDC
14 | 140444  |CONTROL PANEL ASSEMBLY
15 | 180305 |CONTROL CENTER DISPLAY BEZEL "SID BLU"
16 | 180306 | THERMO BACK-UP SYSTEM BLANK PANEL "SID BLUE"
17| 180308 |CONTROL CENTER RECORDER BLANK "SID BLU"
18 | 180360 |CONTROL BLANK PANEL "SID BLUE"
19 | 195837  |MOUNTING ANGLE FOR 180305
20 | 590027 |#6-32 X 1/4 SS PHP EXT SEMS SCREW
21 | 600085 |5/16 NYLON CABLE CLAMP
22 | 1950069 |HEATED VACUUM RELIEF PORT
23 | 1950492 [MOUNTING ANGLE
20 | 191956 |FREEZER DISPLAY BOARD
25 | 1957173 |13 817 CU. FT. UPRIGHT FREEZER DOOR
26 | 195830 |UPRIGHT DOOR WIREWAY COVER PLATE
27 | 430336 |15 FT, RS-232 CABLE 25 POS.
900 Single Door BOM Assembly
(F-TS -86)

902-201-1-B Rev. 8
Page 2 of 2

Model 900 and 5900 Series

Thermo Scientific



Section 7

Parts

FT. TOP DOUBLE DOOR

23 CU.

195787,

CFT.

BOTTOM DOUBLE DOOR

L2
5

902-202-1-B Rev. 9
Page 1 of 2

900 Double Door BOM Assembly

7-7

Model 900 and 5900 Series

Thermo Scientific



Section 7

Parts

7-8

BILL OF MATERIALS
UM PART o, PART DESCRIPTION
| 20003 |1/4-20 X 3/4 SS HH CAP SCREW
2 20058 | B1/4-20 X 3/4 5SS FHP UC SCREW
3 22053 |#8-32 X 1/2 S5 PHP SCREW
1 23033 |1/4 S5 INTERNAL TOOTH LOCK WASHER
5 23057 |5/8 WAVE WASHER
6 24016 |#6 X /2" SS PHP SCREW AB POINT
7 24032 |#8-32 X 3/8 S5 PHP SCREW F POINT
8 25040 |#6 U SPEED NUT STL. STL.
9 30033 |RIGHT ANGLE STRAIN RELIEF
10 | 111028 |TINNERMAN TUBULAR SPEED CLIP
| 121092 | 856" OD FLAT WASHER
12 | 121098 | FINISHED HANDLE/LATCH ASSEMBLY "WHT"
13| 121102 |CAM LATCH MOUNT
(4| 132104 |HEATER, 3W, 14VDC
15 | 140444 |CONTROL PANEL ASSEMBLY
6 | 180305 |CONTROL CENTER DISPLAY BEZEL "SID BLU"
17 | 180306 | THERMO BACK-UP SYSTEM BLANK PANEL "SID BLUE"
18 | 180308 |CONTROL CENTER RECORDER BLANK "SID BLU"
19 | 180360 |CONTROL BLANK PANEL "SID BLUE"
20 | 195837 |MOUNTING ANGLE FOR 180305
21 | 590027 | #6-32 X 1/4 SS PHP EXT SEMS SCREW
22 | 600085 |5/16 NYLON CABLE CLAMP
23 | 1950069 |HEATED VACUUM RELIEF PORT
24 | 1950492 |MOUNTING ANGLE
25 | 191956_ |FREEZER DISPLAY BOARD
26 | 195785 | 13/17 CF TOP DOUBLE DOOR
27 | 195788 | 13/17 CF BOTTOM DOUBLE DOOR
28 | 195830 |UPRIGHT DOOR WIREWAY COVER PLATE
29 | 430336 |15 FT, RS-232 CABLE 25 POS.
900 Double Door BOM Assembly

902-202-1-B Rev. 9
Page 2 of 2

Model 900 and 5900 Series

Thermo Scientific



91J1IUBIDS OULIBY]

$3118S 0065 PUe 006 13POIN

6-L

1950485,
1950480,
1950481

1950487,
1950483,
1950484,

195818,
195819,
195859,

13817 CF FRT PANEL
23 CF FRONT PANEL,
28 CF FRONT PANEL,
13817 CF FRT PANEL
23 CF FRONT PANEL,
28 CF FRONT PANEL,
13817 CF FRT PANEL
23 CF FRONT PANEL,
28 CF FRONT PANEL,

195794, 13 CF SIDE PANEL
195799, 17,
Upright Freezer Assembly

(F-TS-R-H-1 -86)

23 & 28 CF SIDE PANEL

(GRAY 45 VENTS)
(GRAY 45° VENTS)
(GRAY 45° VENTS)
(WHT 45 VENTS)

(WHT 45 VENTS)
(
(
(
(

195845, 13 8 IT BULKHEAD SUPPORT
195846, 23 CF BULKHEAD SUPPORT
195863, 28 CF BULKHEAD SUPPORT

WHT 45° VENTS)
WHT)
WHT)
WHT)

(42 START COMPONENT

\_J_/ BRACKET ASSEMBLIES
1823050 -86C 230V 50 HZ
1823060 -86C 208/230V 60 HZ
1812060 -86C 120V 60 HZ

/10\203056 120V 60HZ
) (2 /203057 208/230V 6041

~ 203058 230 50HZ

\ (2D
L

195802, 13/17 CF REAR ACCESS GRILLE
195803, 23 CF REAR ACCESS GRILLE p
195804, 28 CF REAR ACCESS GRILLE

902-203-1-B Rev. 10
Page 1 of 2

suey

[ uonaag



0l-L

S$al18S 006S PUe 006 13POIN

suegd

[ uonaag

BILL OF MATERTALS
W PART o PART DESCRIPTION
\ 23002 #8-32 IP LKWASH HEX NUT
2 23011 [/4-20 IP LKWASH HEX NUT
s s S BILL OF MATERIALS (cONTINUED)
5 24032 #8-32 X 3/8 SS PHP SCREW F POINT [TEM PART NO. PART DESCRIPTION
6 24038 [/4-20 X 1/2 SELF TAPPING SCREW NO.
1 30016 " SNAP BUSHING 2| 209020 LIQUID LINE FILTER DRYER WITH ACCESS PORT
8 108020 10" WIRE FAN GUARD 22 214018 10.000" H X 5.000" DIA. EXPANSION TANK
9 115032 BLACK ABS PLASTIC PULL 23 214023 OIL SEPARATOR
10 116115 FRONT PANEL HINGE 24 220626 120V - 30/60 HZ SOLENOID VALVE
I 12001 | DUAL WHEEL CASTER 25 319388 LATCH CATCH, PART OF 319388 ASSEMBLY
|2 195746 13817 CU. FT. UR FRZ BASE FRONT PNL 26 319388 LATCH KEEPER, PART OF 319388 ASSEMBLY
13 195799 SIDE PANEL 17, 23 AND 28 CU. FT. UPRIGHT 21 330002 5/8" SNAP BUSHING
14 195802 13/17 REAR ACCESS GRILLE 28 350096 RUBBER MOUNT FOOT EMBRACO
15 195829 MULLTON/DOOR SWITCH WIRE COVER 29 360248 MINI SNAP-IN POWER SWITCH
16 195844 UR FRZ FAN BULKHEAD 30 4001359 SEALED LEAD ACID BATTERY - 12 VOLT - 7.2 Ah
17 195845 13817 CU. FT. FAN BULKHEAD SUPPORT 3 210035 #12-24 X 172 SS HH CAP SCREW
18 200126 2" RIGID HANGER 32 350043 1/4-20 X 1"L ZP CARRIAGE BOLT
19 203057 UPRIGHT COMPRESSOR 208/230V 60HZ 33 290020 #8-32 X 3/8 SS PHP EXT SEMS SCREW
20 204009 REFRIGERATION CONDENSER 34 390029 #8-32 X 3/8 SS PHP EXT SEMS SCREW W/PATCH
35 600080 /4 ALUM CLAMP W/LINER
36 610053 3/8-16 NYLON INSERT LOCK NUT
31 680030 5/16-18 X 1.75 §S HH SHOULDER BOLT
38 730087 #12 SS EXT TOOTH LOCKWASHER
39 760203 AIR FILTER
40 900113 10" TUBEAXIAL FAN, 113V
41 1950074 BATTERY MOUNTING BRACKET
42 120230-01-2 | UPRIGHT FREEZER START COMPONENT BRACKET ASSY.
Upright Freezer Assembly 902-203-1-B Rev. 10

(F-TS-R-H-1 -86) Page 2 of 2

9JUBIIS OULIBY]




Section 7
Parts

i

\
U

A

g

230V RELAY ENCLOSURE ASSEMBLY 902-204-1-B Rev. 2
Page 1 of 2

Thermo Scientific Model 900 and 5900 Series 7-1



Section 7
Parts

BILL OF MATERTALS

PART DESCRIPTION

#8-32 x I-1/4 5§ PHP SCREW

I=1/2" SNAP BUSHING

HIGH VOLTAGE BOARD 230V

MICRO BOARD ( HIGH END)

SWITCHER BOARD

I 75V TRANSFORMER

POWER INLET, 16/20A

#6-32 X 3/8 SS FHP UC SCREW

#8-32 X 3/8 SS PHP EXT SEMS SCREW

#6-32 X [/4 §S PHP EXT SEMS SCREW

TUBEAXTAL FAN, 30 CEM, 12V

RELAY ENCLOSURE SPOTWELD SUB-ASSEMBLY

RELAY ENCLOSURE COVER/ 191656 SUPPORT

TRANSFORMER HOLD DOWN

RELAY ENCLOSURE COVER (MAIN)

191658 SUPPORT BRACKET SUB-ASSEMBLY

o PART WO,

| 22143

2 30077

3| 191923

1| 191989

5 | 400165

6 | 420090

71 460169

8 | 490009

9 | 590020
0| 590027
T 900134
12 | 195631-16-1
13 | 195631-16-4
14| 195631-31-3
15 | 195631-31-5
6 | 195730 16-1
7 230184

I5A DPDT SWITCH/CIRCUIT BKR

|. COMMON TO: 1950124 & 1950128

230V RELAY ENCLOSURE ASSEMBLY

902-204-1-B Rev. 2
Page 2 of 2

7-12 Model 900 and 5900 Series

Thermo Scientific



Section 7

Parts
(167
L/
230184 I5A DPDT RKR CB/SWITCH
USE ON RELAY ENCL. 1950127
Exploded Drawing
120V Relay
[. COMMON TO: 1950123 & 1950127 Enclosure -
Freezers
902-204-2-B Rev. 1
Page 1 of 2

Thermo Scientific Model 900 and 5900 Series 7-13



Section 7
Parts

7-14

REV | ECN NO. DATE BY | CAD [APPD DESCRIPTION OF REVISION
0 |FR-2202|06-23-11|KDG|KDG |DRP | RELEASED FOR PRODUCTION / REL. 6
I | FR-2409 [10-10-12| AJC|KDG [CCS REMOVED 1950121 & 1950125 LOW END BOXES

BILL OF MATERIALS

Lol PART o. PART DESCRIPTION

| 22143 |#8-32 x 1-1/4 S5 PHP SCREW

2 30077 | 1-1/2" SNAP BUSHING

3| 191932 |HIGH VOLTAGE BOARD 120V

4 | 191989 |MICRO BOARD ( HIGH END)

5 | 230183 |20A DPDT SWITCH/CIRCUIT BKR

6 | 400165 |SWITCHER BOARD

7 | 420065 |175V TRANSFORMER

8§ | 460169 |POWER INLET, [6/20A

9 | 490009 |#6-32 X 3/8 SS FHP UC SCREW

10 | 590020 |#8-32 X 3/8 SS PHP EXT SEMS SCREW

1| 590027 |#6-32 X 1/4 SS PHP EXT SEMS SCREW

12 | 900134 |TUBEAXIAL FAN, 30 CFM, I2V

13 [ 195631~ 16-1 |RELAY ENCLOSURE SPOTWELD SUB-ASSEMBLY
14 [ 195631~ 16-4 |RELAY ENCLOSURE COVER/191656 SUPPORT
15 [ 195631-31-3 | TRANSFORMER HOLD DOWN

16 | 195631-31-5|RELAY ENCLOSURE COVER (MAIN)

17 [195730- 161191658 SUPPORT BRACKET SUB-ASSEMBLY

THIS DOCUMENT CONTAINS PROPRIETARY
INFORMATION AND SUCH INFORMATION IS NOT TO
BE DISCLOSED TO OTHERS FOR ANY PURPOSE NOR
USED FOR MANUFACTURING PURPOSE WITHOUT

MODEL/PART NAME: RELAY ENCLOSURE ASSEMBLY

DWG TITLE: 120 VOLT RELAY ENCLOSURE ASSY

Exploded Drawing
120V Relay
Enclosure -

Freezers

WRITTEN PERNISSION FROM THERNO FISHER SCIENTIFIC [DWN: KDG  [CAD: KDG [APPD: DRP [DATE: 06-23-11 [SCALE: 0.250
MATERIAL: -
ThermoFisher PAINT: N/A
SCIENTIFIC TOLERANCE UNLESS OTHERWISE SPECIFIED DRAWING NUMBER SIZE
BOX 649, MARIETTA, OHIO 45750 ANGLES: PECINAL: szgi 902720472 B

902-204-2-B Rev. 1
Page 2 of 2

Model 900 and 5900 Series

Thermo Scientific



Section 7
Parts

y
P
A
A
S
S
S

LOW STAGE
USE THIS SIDE FOR
-40 CONFIGURATIONS

ISTII@

HIGH STAGE
Upright Freezer Start Component 120230-01-2-D Rev 9
Enclosure Assembly Page 1 of 2

Thermo Scientific Model 900 and 5900 Series 7-15



Section 7

Parts

7-16

NOT SHOWN *
NOT SHOWN
NOT SHOWN
NOT SHOWN
NOT SHOWN

NOT SHOWN, SEE NOTE 3

NOTES:
1.

UPRIGHT FREEZER START COMPONENT BRACKET ASSEMBLIES

ITEM DESCRIPTION 1823050 1823060 1812060 1445230 146230 146120

NO. -86C 230V 50 Hz |-86C 2081230V 60Hz] -86C 120V 60 Hz | -40C 230V 50 Hz |-40C 2081230V 60Hz| .40C 120V 60 Hz
1| COMPONENT BRACKET | 120230 120230 120230 120230 120230 120230
2 oo X2 24021 (4) 24021 (4) 24021 (4) 24021 (2) 24021(2) 24021 (2)
3 |  832X3BSCREW 590020 (4) 590020 (4) 590020 (4) 590020 (2) 590020 (2) 590020 (2)
4 START RELAY 312286 (2) 312186 (2) 312086 (2) 300445 (1) 300432 (1) 300431 (1)
5 | STARTCAPACITOR 623050 (2) 623060 (2) 612060 (2) 170236 (1) 170154 (1) 170154 (1)
6 | #8SPEEDNUT,SS. 327675 (4) 327675 (4) 327675 (4) 327675 (2) 327675 (2) 327675 (2)
7A | 25 VIYYL COATED NA NIA 600106 (4) NIA NA 600106 (2)
7B | 2'VINYL COATED STRAP | 600108 (2) 600108 (2) NA 600108 (1) 600108 (1) N/A
8 RUN CAPACITOR 223050 223060 212060 N/A N/A NA
9 RUN CAPACITOR 223050 223050 212060 170097 (1) 170226 (1) 170224 (1)
1 | 175 VINL COATED 600107 (2) 600107 (2) SEE7A 600107 (1) 600107 (1) SEE7A
11 | NEOPRENETAPE 18"X | 28003 (4) 28003 (4) 28003 (4) 28003 (2) 28003 (2) 28003 (2)
12 (CE[T)GT%?_LEJGEQH) 114012 114012 114012 14012 114012 114012
13 %EF“QQE“N%’ER(’;‘,ELS% 350002 350092 350092 350093 350093 350093
14 ENCLOSURELOWSTAGE] 350108 350108 350108 350108 350108 350108
15 |ENCLOSURE HISHSTAGEl 350107 350107 350107 N/A N/A NA
16 NOMEX COVER 250138 250138 250138 250138 250138 250138
17 | ESDWARNINGLABEL | 220555 (2) 220555 (2) 220555 (2) 220555 (2) 220555 (2) 220555 (2)
18 | IDENTIFICATIONLABEL | 823050 (2) 823060 (2) 812060 (2) 423050 (2) 423060 (2) 412060 (2)

* THE ULT MAIN HARNESS IS LISTED FOR INFORMATION ONLY. IT IS NOT PART OF THIS ASSEMBLY.

SEE PSS 8602-724-012 FOR ASSEMBLY WIRING AND OTHER DETAILS.
2. AFTER ATTACHING NOMEX COVER (250138) WITH SCREWS (590029), STICK ESD LABEL (220555) TO OUTSIDE OF COVER.

3. IDENTIFY EACH ASSEMBLY WITH LABELS ON THE BOTTOM AND BACK THAT INCLUDE THE FOLLOWING:
FIRST LINE - ASSEMBLY NUMBER AND REVISION
SECOND LINE - BAR CODE OF ASSEMBLY AND REVISION

THIRD LINE - UNIQUE SERIAL NUMBER INCLUDING DATE OF MANUFACTURE IN THE FOLLOWING FORMAT AND ORDER:
THREE LETTER MANUFACTURING SITE, TWO DIGIT YEAR MANUFACTURED, TWO DIGIT WEEK MANUFACTURED FOLLOWED

BY A UNIQUE FOUR DIGIT NUMBER.
FOURTH LINE - BAR CODE OF UNIQUE SERIAL NUMBER.

FIFTH LINE - ASSEMBLY DESCRIPTION IN THE FOLLOWING FORMAT: UPRIGHT, TEMPERATURE, VOLTAGE AND FREQUENCY.

Upright Freezer Start Component
Enclosure Assembly

120230-01-2-D Rev 9
Page 2 of 2

Model 900 and 5900 Series

Thermo Scientific



Section 7

J%

()
J

©

BILL OF MATERTIALS

ITEM
NO.

PART NO. PART DESCRIPTION

209017 ORYER

211050 HEAT EXCHANGER

227927 HIGH STAGE CAP. TUBE

Nlw|ro|—

227928 LOW STAGE CAP. TUBE

Exploded Drawing
Heat Exchanger
Upright Freezer

902-205-1-B Rev. 0
Page 1 of 1

Thermo Scientific

Model 900 and 5900 Series

Parts

1-17



Section 8

Refrigeration Schematics

Barte [0 YL e N

JWIS dW3L AT

(ADEZ THOTY SHITT3MS “L4 TO €1 098k 'IREIEL
(d9960H223 “d0605 ‘T380V2EAN 'TOFEISL “UIBEINT TERENH 'T9R0KIA0 TIA0I2HC "DS60RZND “06 ‘GG
[ADEZ "ZHEC) SHATYTAA 14 TOOEL  ASBORZEAN "ABSZIEL 'ASSEINT "ARDKNH “ASSENEHT 16 "6

M

1. AWK '}

f-0-06-206 _
AN DRI NOLT JI41LN3IDS
NINGHS MOLWERIEE UL A0 JRysijounsy |
(A DED) SIS INODT L4 TO 1 388 TTUIL A0
HIW0LEN)
N T A Qedv] s ﬂ_____ﬂ___“__ T
NOISIASY A0 NI ATH0530 {TacM OV 6| 3090 | TN S0 AZH) JLALKIDS CHELI DROKL s ACISR ILUAA
ﬂHﬂEEEEE_LE 5] 518 __,‘aﬁ__mﬂﬁ 0| & S e o STotd 1 SO0 %
| ZHTTE H M | o | eS| e esee-ed 1 B T Lacaat
¥ (TR T ISREea o] & 003y 21-0c-60) oova-tq 2
7 e 0 1 9mv2 % 0 i o |90 0ry] 76200 sova-q €
S STHIM A DY | ) |00 3-12-60] 60k2-ed ¢
%6 TN ETWIOEM | g [Eory] £1-vl-10|eeeR-ad ©
Eré TN EXMLNOE | o (Il ary] 101G eva-ad 9
Ui TNLS A 0D | (slar] £i-6r-2ilsesaad | <
Ea2 01 0 T 00eiE 0D | el [o0wM| 1-+-0[E052-84 8
f9a0m2 o) DN DY | 0 |S] Y 910090 1982-Hd G
TS I sy [oo ool -4 |
N e ek

LEZ 1% 51 WALSAS NOHA SININGHNZVIN D54 T w o

i) T 51 SIELVARGIS D
CHIEHT0 o2 S 3N
IATHNTY 32 HUOA 16T TRIETI0 JVLS SWIVieRdl AM

M54 £ § 954 BEl 0L 054 11
o0 B0 v s M AT BR0G-H
TS 00 0L WA 1N ¥l G634 G TH 9 LN £l

il
TEd € 3 0754 621 0L M54 8
o (v #5500 10 B0 BROG-H
0% 8O0 JvA ¢ oM BETE T0 6D Ge-H CLIND ZH 05 LD ET

(NVHI0THG FOVLT TNV AT
[MpEE) 70 51 40LHITE 0

LR e ]
T ERIET WA 3082 J0A0HV T3 JTECWND WIS IHiveIdRal HIH

iyl 70 2/ RO T S% VRDK-d SLIND 2H 09 LD €1
@ 10 2 620 T0 L2 Ok-E LN 2R 06 LD €1

AT LS 3WLVHIAAL HOTH

NOILW¥301¥43 30VISYD

¥

L 4

EOC0E2
m.ﬁ_ T
M.D £
|
fmE L

JOVIS dW3L HIH

8-1

Model 900 and 5900 Series

Thermo Scientific



Section 8

Refrigeration Schematics

8-0-06-t06

SFEAIN. ONINYSD J3EWIN_ 80 NOILY30T

JILYW3HOS NOILyd30Ia43d 37111 90

(A 021) Sd3733d4 LHOTadN " 14 1D €] 3.,98- F1LTL 600

dINOLSTD

NN 3TYOS] Oddv]ovs Ov3[ ovs O] 11-2i-50 310

0SL5 OIHO "Y1L3Id¥W ‘6¥9 XO8

214d1LN3IIDS
leysijouriey

(A 021) Se3733d4 L4 'MD €71 v98Oycaly] 'OEBS ‘EEV9 “2cy9 '¢BBS 'E0BS

LOB8 'GEB8 'EEBB ‘2268 'E08S 'E0LS ‘¢B6 'OE6 'E06 OL NOWNOD I

9 3SyITHINOILINO04 o0 03SYI | 40 [9VS|Sas

L 3SY3139 "IONVH] d0SSTIdNDD | a0 |OVS|INC| T1/20/CT|L9¢c-d4

NOISIATY 40 NOILdI&DS3a|0ddy|aydiA8] 31¥0 |'ON D3| AJf| JIIINAIIS 83HSId ONa3HL WO¥d NDISSIH3d NILLISN
LMOHLIA S3SO48Nd ONISMLIYSINYN 304 43SN

~C1-50|c0cc-dd| O | oON 3SOdNd ANV 804 Se3H10 0L 03S0TIS10 38
0L 1ON ST NOLLVWSOINI HIMS ONY NOILYWSOSNI
Adv131dd0ad SNIVINOD INJWND00 SIHL

11
11 |
87133 - 950€0C 0L ESOEOC dWOD SH | 40 |90N(IrV|21-02-80|00rc-d4| 2
"I05'¢ AB'OTd43Y "OHD % 900vic d3S SH 00v| o0 |D0N|JMY|cl-EC-D1 |007C-dd| €
SH3EWIN ST300K N3N 0300 ddl |90%|3rY|cl-Ec-01 |B0ve-dd| ¥
INVSFOTS43Y 397LS AOT 0IONVHD | 0 (BYS|IrY|ET-E1-21(986c-dd| S
EcOvlc OL "d3S 110 900vie "0.9H3 | dd0 (90X WYW| 71-70-90|EL8C-d4| 9
v9802a¥] 13004 0300V S0 19vS| 84|81-L0-v0|198C-dd| L

J.EC 1¥ ST WILSAS NIHM SINIWIANSYIW 9ISd 17 *

CIYyyy) Z0 ST +d0Lvdyd3s 110
(1¥1S9)'7Z0 ¢¢ +d0SS3ddh0d
JAILI00V 7% HLIM L0S1 70832710 39YLS 3aNLlvaddwal KO

9ISd € F 9ISd 8¢1 Ol .8
30 (64> 70 v/1 ¥ (B5°€8e) Z0 0°01 @805
91Sd 8 01 VA © 'XwW (84°2zZ) '708°0 0Bc-3 :SLINM L4 €1
JINVE39TH3d 3IVLS JANLveIdhaL NOT
CIYypi) "Z0 ST *d0Lvayd3S 110
(14168)'70 ¢¢ "o0SS3ddWOd
110 843153 T0AT0d 3322 JIL3av V3 37180W: 110 F9VIS JaNive3dW3l HITH
(Op1) 70 2/1% (BEzL) '70S5°S2 Op-¥  SLINT L4M3 €1

CINVEIOTd3d FVIS JNLve3dWaL HITH

NOTLVe39Ta44d 40V ISy

JIVIS dWI L MO

950E0C

VIS dW3L HITH

rﬂ B0E0ZT
_/
caovie
600702 5
B60£022
£11006
£11006
£10602 [
910502 €EloLee
_ 120112
B0E02Z R
= y30IIz|
£20p12 i
- 2E10L22
(21}
60€022

Thermo Scientific

Model 900 and 5900 Series

8-2



Section 8

ICS

igeration Schemati

Refr

m\Q\Dm\WD@ 05L5Y DIHO “¥1L3IdvW ‘6v9 X08
SFGANIN_ ONTNYSD 439WIN_80r NOT YO0 20141LN3IDS
JTLYHIHIS NOILY¥IOIdRS 3ILTIL OM0 A9US1] OULLIBY |
(A 0Z1) SZ333 [HILEN 14 M 41 J.98- 111 400
SI0LSI
NON ITvIS[NOT Oddy[avs 0¥3] 9vs NAO] r1-z1-s0 31v0
NOISIATY 40 NOILdIDS3a |oddvlavalAg mzm "ON 33 A3 | JIJLINAIS S3HSIH ONAIHL 0o NOISSING3d NALLTaN
= IOHLIA SIS0 INTANVAMNYH 04 035
G ISV NOILON00Yd 04 03SYI | NOT|9vS|Sas 0(c0cZ-d4| O | 30N 3SOd8Nd ANY 804 S8FHI0 0L 03SO1ISI0 38
L 3SVIT TNV 0SSTAI| il [3vS| e 1]1922-011 DL /0N SLNGLVHEONT TS QN7 NOLLTNAENT

(A OCl) Se373334 14 N3 LI v9BOCEY] "1EBS 'WEVS 'ECY8 'EBBS '¥0BS

B3B8 9568 ‘vEBB 'ECEB '¥0GS '¥OLS ‘EBE 1EG VOB (0L NOWADD 1

L2012

J9VIS dWIL HITH

11-2
11-8 ]
8733 - 0S0E0Z 0L ESOEOZ DD SH | 40 |90 3rv|21-02-80]00ve-34] 2 JOVIS diWdL MO
"Z05°¢ A8 9T "9HI B 9007 43S SH O0Y| A0 |90M| Y| ¢1-EC-01|00¥¢-ad| €
SIBNIN STI00W AN 0300Y | 30 |90%[ Y| 21-€2-01 |Bove-24| ¥ 950607
INVIF9TSH3d 39Y1S MO OF9NYHD dd0 |9YS|Irv|E]-E 11986¢-d4| G
INV3FITa-T FOVIS WO DFONVH | o0 |3vS|Irv|v1-20- 10985234 g
E20¥Te OL 'd3S 7110 900¥Tc "Q.0HD | ddd [90A|WYW| 71 -70-90|ELOC-aiH| L
B0E0Z2 -
v¥9802E2) 19004 4300Y <27 |avs| 8x31-20-v0|1982-344 B r N
(1A | |
920022 | [
J.EZ LY ST WILSAS N3HA SINFWINNSYIW 9IS TT7 * i [
| |
N3dD ATWARON] s | L 8loviz
£eovie
B00Y0C [Eh)
ANANE 60022
C1Wpbp) 70 ST CdlLvavdas 110 €£11006
(14188) 70 2z J0SSTINI
3INILIOOY 72 HLIN 1051 1083Z:710 J971S JaMLYa3dhaEL MO
9ISd € T 9ISd B2l OL 9ISd L E11008
(60>°70 w1 fm 2'807) Z0 v vl 8805-d —
9ISd £ OL J¥A © ‘XvA (B2'1E> 'z0 1'1T 0Bg-3 :SLINT 14D L] L
. gze | LI0B®
CINVY30T43Y J9VLS JNLYAIdNAL HOT
(1upby) 70 S ¥0LvavdasS 10 Beree 950€07
(1WIS) 70 22 J0SSINND) =
710 33153 T0ATDd 1322 JTLI8Y Tv3 II60W: 110 J9¥LS FMLYEINIL HITH = zo0i12)
£20v1z
6y 70 2717 (B1S2) 70 5°92 WROp-d SLINT 14M3 2] -
“INVIOINH3Y JOVIS FINLVINIL HOTH =
NOTLYdI9T 43 JavISY] =
60£02C

BebLee

8-3

Model 900 and 5900 Series

Thermo Scientific



Section 8

Refrigeration Schematics

8-0-06-506
NN RIAH] H3MWN_ 8 NOLLY2
AUns NILVERESE 3111 OAl

(A BT SIGTIRY DN L4 T 41 D08 31000 EOF

dILEND

LS ET N

LS (0 VLI i

JI41LN3IDS
Jeysijouusy | (T 09 ¢ A BEZ) SHIZTIASLS TO L1 080G 'ME02EIS) 'TERBNILAT 'SNE I9G02TEMA

(0351 ‘D98N “TREZENH 09802603 'U9E882I0 N9 B T
(06 / A DE SITTR ‘L4 YO {1 ASBORCEAA ADEEISL ‘ASBITE 'ABNELH ‘ASBIRCE0D “hi6 'GOG 0L WO 1

9 oVTT/MILYNDS A1) T A 11-21-Ga 20224 4

oy
osEn] T-1-01) 192244

i 16 EUVET, ‘T) [T aar| 2i-ci-i 5ee-id

AT ~(L'SCHELE O WOLCDERT D S| ] 31-02-80] 0vE-4d

HET SN 90 V6T 5 O ] 2-62-01] -4

SN TN AN DY

TV 21-C2-01) 0b2-ud

-JET AR

{64 THIN TSI | E-nd-) BedE-4d

6 THIIM LNLACEEN Y] El-+i-58 03244

IRGEEEEL JHIS AT B30 o] E1-61-21 -4

Wi 1= -8 52- 14

£ 0L W06 T W S0

Zj8.218

RGN THM £ B G1-il-F 1A
TURLE (01 M, D3l [i-ie-0i| carly

e
L L
[l uﬂ.u____ 18 1 f [ il ETE (-2 | GhLlY

S EREEEEEEE
p=15=8 F-cn - -3 o V-0 E 0 el [T

b

i) 70 S WA TID

CEIRATD 2 WD TEdN
TAILBEEV 42 HLIA LOSI W3RN0 3WLS SNLSU3AGL ADT

IR FWLS 3301 AT
{H i T Gl SLVEREE T
(MIESTI0 22 WSS 3NN
0 3453 T TR L W3 TURDRTID WIS BaNIvEGcIL HIH

ibsn 7o e oBich ID 2SR wele-d 1IN L0 4
| NVEINIE A TS RNIAGL HETH

NOIL 3018438 30¥I5W]

=8

NOISTAZE 40 NOLLrR0sae [haddvd an] 3uw0 [N #03A38] moms o

YIS dW3l ADT

DEZ LW 51 WCHLSAS NOWA SINIROMENS QU TW e

3

L _lr
gl G L
A, e > _.}_\H £2eE

BGIENT 2H 0% | HIR . ﬂ
£ EE;&@ —— NN

1S dWil HOH

Thermo Scientific

Model 900 and 5900 Series

8-4



Section 8

Refrigeration Schematics

(A 06D SHITT0S LHORSAN 'L O £2 298 TOLIL A0

WL

N TN NI O] s VO[] s NAT) 1-E-S0 3190

WOISIAZY 40 NOLLAIISI0 |40V A8| 360 | TW MI3A
5 TVTOMAILLINNG H 0T ap|vslsas| 1-21-Gof2u2-4d o
{ IOTHTMAD HESRAE | 1-61-01] (922-44 1
T % DR 0 0 | gl || Zi-va-l| s 2
T (S92 0 PCRENR N 8] o || 21-02-80) b0k2-ad| €
e AFSAER 0 Y 9 0 g || -t w024
SOHNH SO AN DDV | ol || 2-2-60] 60n2-4d ©
Beh DN OOWEINDN | o [ 1-va-To| B4 9
Ui THON NN | ol || El-el-Cof mRvR-ud £
TG LS A e | ] | WS 6121 9ma-ud
£aiz 1 43 0 W2 100 | e | #1-40-50E092-4
TS00HND THN CO0Y | Ml % g1-40-40] 198244 01 |
ST I ML T | gt -G GO | i
S RO, -Cl-
L P T

WA LT

0 men s } 70 TT1 AE-
LRI T e

Mid £ 3 %) Of %545
iy 20 vl i 0 fEE 4305
84 9111 WA 1

=

IEC 01 54 B

Ol O

a B

mlﬁ_-_“_mum:m IS TR0 VLIS Eh9
H3IANN_ SHIAYAD N 0 N0 JI41LNT1DS
JLIVKHIS MILRESE TR TM0 JOUSIJOULIOY | | % / A G SHITII LI B2 ASBUONSAA 'NAVSE ASBENY “ARNOMLI ‘ASBIOH I 566 6

(W 09/ A 06D IR LMD 02 oGBS 'IMKIS] 00000 'HISh THRIENA
D0HE] TRREANE ADINLH T80 81 EIR0GE “5600KHD ‘085 '{G6 L NIMWDD T

WIS dedl A0

A

202 IV 81 MILSAS WIHM SLNBINMENIN A4 T

CRFbi) 20 S VS T
(IESE 22 eflREekd
JALLIEDY 22 HiIA LOGH TOESRTID FIVLS RMI%GHIL ADT

SN TH 09 L400 £2

T 21 fee-B  (EAINT W 4 1400 £2
U RAEIA3E WIS a3l A

MEpe) T G SUYEYES THD
(WLIT0 22 IRl
T H3U5T AT 322 L3 W3 AW 0 IS FNINEGL HIN

(B0 70 2 (60 70 S92 YeOk-H UNAEIHON TWLE AL HIN

NOIL¥a301443d 305K

JWLS dih3l HIIH

s

Tu I190s

1
AT
: i e 4
A > Vv (e
BOSE02 24 02 i MR ﬂ
E2012 Egse S Vv

8-5

Model 900 and 5900 Series

Thermo Scientific



Section 8

Refrigeration Schematics

d-0-06-£06

TLUAGHIS NOLLAESY T1LLL OAT)

(A 06D SHIZTIHS LHDMAN L4 T 82 98- TOLIL A0

HIW0LEND

WO TS de0 (o] S OWD) 5 NAD| n-Ei-G 30V

TGS OIHD VLT '5h9 N
JIdILN3IDS

NOISIATY A0 NOLLTEOS3 [dacMavil 4] 20wl [N A3
D RN Ml | WSIAT) 21-Ha-T0j 92244 2
02 0070 2 00 T TG 82 oo | KON 202 (5204 €
TN B VT OTHG B-E]  (DON O] 2-0C-B0|6eES-H ¥
TH -{SH0E 0 WCCome i | 4 [0 2i-0e-tof oove-2d &
TET A 0 Y S 08 10 ol | D0 21-62-00) obe2-44 9
SN SN A Y [ o (DO 21-63-01] aliR-dd {
19382 ML AR 45 A 0| Wl | WSINY E1-21-20) 365244 B
e 91 T A R il A E1-B1-21| 36581 &
£200i2 [ 03 T R KD | o | DNV ¥i-b0-90[E052-84 01
aored T ENY | G |iws] 90| 19824 11
ATV B W
PR TER S P ..La: {-2-01) tevdy | &
MEd § ' GES WA 10 JER
s s | ue{wea] o @

E2 1% 51 WILTAS NIKA SINIANSYIH D5 TH o

(Mbi¥) 70 S1 SOLWHNAIE 0
(HIRIVTD 22 RS IR

TATIEV %2 HIEA L0S] 32 N0 ENLE HIRE3AGEL AD
0S4 £ 7 054 L21 OO 9ESd £

o oo w7 BsEck 109l ER0s-y
04 £ 0L A TR (E) T0 T DB2-d BAIND TH 09 L0 82

NS4 € § TS ETF DL OIS &
o B2070 #0 ¢ (BCEE 70 0%l EEOS-Y

S5 € 0L DA W CIEN TD T D63 ALIND ZH 0S40 B2
NFHIIY I TWLS JANIYHIENIL AT

W ¥ 70 GF SDUvENAEE IO
(MIESTE 22 HIES R
0 ¥3053 W 2022 LW W3 3TAMW 0 ENLS SH1REANE HIE

@ 20 2 HED 20 €52 WY LN THES L0 B2
o 20 2/ 259 70 2 Wik-d SLOND WS L0 @2

IRAINTEIH INIS THNLR3NIL MO

NOILYE301d 438 308V

(7 090 SEOZ3R44 L4 T B2 04Dm9 sl

(4098009 043 "d0606 '15B005HAN "HO0SIEL ‘D56AANL 'IHOCNH ‘05609500 15096V 06

(2 09 SHIZTRHD 14 M B2 ACHOOSEMA ‘ADNSISL 'ASEB2NI ‘ADISLIH ‘A5G035 (06 0L MORMDD 1

JWLS dwdl A0

skl

261

2
Il

JWIS dW3l HOTH

Thermo Scientific

Model 900 and 5900 Series

8-6



Section 8

ICS

igeration Schemati

Refr

(A 02h) S8373394 14 MO €C ¥9800vvI '¢EBS 'BE¥d 'Bv8 ‘0665 9565
€L68 ‘7968 ‘BEGB ‘8268 ‘955 '9595 ‘066 ‘956 'CEG (0L NOWADD ')

m @\@@\Qm@ Mwwmx WNI330 [SITONY 05LSy OIHD "VLL3TdvW ‘6¥9 X0
3718 J3EWNN_ ONIMVSD 0314033dS STAIHLO SSITNT IINVTTOL DQ14d1LNIIDS
YN 0700 INIvd LE%—EQE&@F—.—.
YA VI3V
INON L;:DL 11-€1-50 LZ\Di NO7 :0ddy | OvS :Oyd | O¥S :NMO | JISTINATIS 33HSTH DWeBHL O34 NOISSIHEd NLLTSH
LNOHLIA S3SOdaNd ONIANLIVAMINYW 04 03sn
JILYW3HIS NOILV33IIa43d 37111 9MO | 30N 3SOddNd ANY 804 S§3HI0 01 038073510 38
N N OL 1ON ST NOTLVAWAO4NT HOOS ONY NOILYWAOANT
(LT0A 021) Sd3733344 [HITd " 14 "MMD €2 98- ‘IAWN Lavd/T300W | Adv13TaddOdd SNIVINDD ININMIO0 SIHL

JoEC 1Y ST W3LSAS NIHM SINIWIANSYIW 9ISd TI¥ *

ClWppy) Z0 ST diLvdyd3sS 110
(1Y168)"'70 ¢¢ +d0SS3ddWo]
JATLI00V %2 HLIM 10ST 70837710 39YLS JANLVd3dwal MO

0L 9ISd £
¥) Z0 9 ¢1 880G
[E) 'Z0 1'1T 0B¢-d SLINM 14MJ €2

Emamﬂm:ma
a0 (B2) 70 91 F

|
1
0ISd £ O1 JvA © “XyW (B

7
6y
62
CINVS3IT43 39YLS ANLve3duaL HOT
(1Yppb) 70 GI “d0LVAYd3S 110
(1U169)'70 22 +d0SSIdWD]
710 39153 TOATOd 3322 ITLISY 3 37160W: 110 39vIS JANLYSAdNIL HITH

(6y1) 70 2/1% (B15L) 70682 WpOP-3 SLINT 140D €2
JINVY39T43d 39VLS FANLY3dh3L HIIH

NOTLVeE9 T4 40vISY)

¥9800va¥] 1300W 0300 SJD|9¥S| 83 |91-40-v0|1982-d4] L

Ec0pic OL 'd3S 110 8000%[2 3INYHI | dd0| 90X | WYW | #1-70-B0 |€£92-d4) 9
ANV330I43y 39vIS MO 'OHD dad | 9yS | Iy |E7-CT-21|985¢-d4| §
SN ST3004 3N d300v ddl | 90X | Irv | ci-0c-60 |prc-d4) 7

‘706'C AB'0I843d "OH] 8 900FIC "ddS SH OO0V| dd0 | 90X | Iy |Cl-Ec-01|00Fc-dd| E
8739 - 950€0C DL ESOE0C "dWOJ SH | 40| 90X | Iry [21-0¢-B0|00k¢-dd| ¢

L 3SYI1RA/IONVHD A0SSTAWOD | dai0 | 9¥S | INF | 11-81-01 |£822-d4] 1

9 3SYI13/NOILIN00Yd o04 03SY3IT39 | NOT| 9vS | SaS | 11-E1-50|c0¢2-34| 0
NOISIA3S 40 NOILdId1S3a Odd¥| Qv | A8 31v0 ON NJ3| A3d

FOVIS dW3L MO

JUVIS dW3L HITH

950£02
B0E022 R -
[IA] | |
geq0ze | |
f |
| |
N3dD ATIVARON| s | Bovie
_/
georie
600702 a8
e aNaul 60£022
£11006
£11006
L10602
010607 125122
B0E022 [201%2
950E0C
250112 |
gzarie
BcbLee
[}
BOEOC2

8-7

Model 900 and 5900 Series

Thermo Scientific



Section 8

Refrigeration Schematics

d| 1-06-796G61 XCwa saow

0SSy OIHD ‘VLLIRIVH ‘6¥9 X0E

3:E¢ 1V SI W3LSAS N3HA SINIWIINSYIW OISd TV *

S| ¥3IGWIN ONIAYAT | GLITES FIAHD STTMN INATDL JI141LN3IJS 91Sd €81 303 INTYA INILYINITY ¥3LVA 13Swx 896661 ‘0L NDWNDJ
w_awow|  JOUSIJOULIeY |
N eI ]
-] JLAIINIOS A3HSTS ONY3HL WOYS NOISSINGGd N3LLTA|
300 05| ev-e2-10 90| M Gov] SHO 0] oM g | LIS LI DREHL ML MISSIRGd aLnn 9YLIS dW3L MO
JILYN3HOS NOLLYY3ONNI3Y ¥3733d4 'JLIL 9AQ | 30N 350ddNd ANY 304 SY3HLO OL 43S070SIA 34| AIND SLINN
— P 0L LON ST NOILYWSOSNI HONS ANV NOILYWNOINI| 8G0E0C ZHIS AOE2 ‘14'nJ 82
7000 OcH LHOINAN ‘L4 °NJ 82 B €2 ‘L1 ‘ET 3.98- 'INYN LaWd/T300W|  A¥vL3INJ0Nd SNIVINDD LIN3WNJOT SIHL| 1G0E02 ZH09 AOE2 Ny €2 ‘1
900602 ZH09 A02I \I
(ubbb) 'Z0 ST WDLYMV43S TI0 e A __ 4
(WIS9YZ0 22 WOSSTIIHI _ _
IALLIOQY 72 HLIA 106 0432 10 30VLS JUNLVA3ANIL AT | |
9ISd € ¥ 9ISd /21 0L 9ISd £ || eoete |
a0 BLYZ0 ¥/1 ¥ 4OECH) 70 09T 480G-Y (2H 09) | [TA] 929022 |
OISd £ OL VA | XvW 46v€) 70 21 062-y 'SLINN 14nD 62 _ _
91Sd € ¥ 91Sd €11 0L 9IS §
a0 &B170 #/1 7 4BL6E) 70 09T 8805-Y @ 05 _ N3dD ATIVHION sivic |
9ISd 2 0L YA | XuW (JOIE) 70 TT 062-¥ 'SLINN 14nD 82 ettt ol el ienleelilondios -
9ISd € ¥ 9ISd JE1 0L 9ISd 8 i
30 670 +/1 7 (Ocehy) 70 95T 480S-Y  (2H 09/062)
0ISd 8 OL J¥A | XvW (IO 70 21 062-¥ 'SLINN L4nD €2 [EA]
9ISd € 7 91Sd 921 01 91Sd 9 1091, 60€022
40 B0 4/1°F (OESey) 70 0T 480S-¥  (ZH 0G/06D)
91Sd 9 OL J¥A ¢ XvW I6g) 70 21 062-¥ 'SLINN 14nD €2 1T
91Sd € ¥ 91Sd ¥2l 0L 9ISd L SIL9M Y
A0 (6470 +/1 7 (Bvly) 70 941 480G-Y (1T0A 02D
9ISd £ 0L WA | ‘XuW (JOZIE) 20 TT 062-¥ 'SLINN LIND €2 902
9ISd € ¥ 91Sd 821 0L 9ISd £ N0 v,
40 OL)70 4/1 7 BUIY) 70 S¥T 480G-Y  (ZH 09/06D) T
OISd £ OL QWA ¢ ‘X¥W (I6216) 20 TT 062-¥ 'SLINN 13D [1
JIsd € 7 9154 €21 01 9154 9 e [ LebLee
0 670 +/1 7 (Ov'88E) 70 L€1 8054 (2H 0S/0E2) cocpzal -
91Sd 9 0L QYA | ‘XuW (J62TE) 70 1T 062-3 SLINN LD L1 (VA VVV Lame
9ISd € ¥ 91Sd 821 0L 9ISd £
0 By70 4/1 7 (4O280%) 20 ¥41 480S-¥  (SLIDA 02D | |
OISd £ OL QYA | ‘X¥W (46218) 'Z0 TT 062-¥ 'SLINN 14D L1 20012 . VVV
91Sd € ¥ 9ISd 86T OL LI

30 670 v/1 7 4609¢) 70 L2 480S-Y (ZH 09/0€S)

9ISd 11 0L 9A ¢ “X¥H (OE'82) ‘70 0T 062-¥ SLINN L4nJ €1
918d € ¥ 91Sd 6¢1 0L .8

30 BLYZ0 v/1 3 4D9GE) 70 Q0T 480G-Y (ZH 06/0€2)

9ISd 8 OL A ¢ ‘XvW (OSS2) 70 60 062-¥ 'SLINN LIND €1
9I8d € ¥ 0ISd 821 0L .8

30 B2y70 v/1 7 4bCEBR) 70 0T €80G-Y (S1T0A 021

9ISd 8 OL VA ! ‘XYW (46/:22) ‘70 80 062-¥ 'SLINN 14D €1

INVYIDIIA3Y 39V1S JANIVIIAWIL MO

915d 041 ‘10266 N/d SYA INTWA 9 VS| IrL| LI-E1-90[e9Le-¥4 L1

€2012 01 'd38 0 900412 3ONVHD d¥ [ 9VS | NW| ¥1-+0-90€L92-34 91

J0V1S AT A0S JDLT [3ONVHD dil [ 9¥S| Irv| ¥1-20-10/98G2-¥4 Sl

JVIS ADT ZH0S 4082 OONVHD di [ 9vS| arv| €1-81-2198Se-¥4 +1

INVIIORIR 30VLS AT [IONWHD dia | 9vs [ orv| €1-€I-2r|98se-d4 €1

NOISIAZY 40 NOLLJI¥OS3T (ddv| ¥O| A8 [ 3UWT | 'ON NOJAJY

826L22

m 60€022
[eA]

8G0E02 2HS AOES
LS0E02 ZH09 AOE2
950602 2H09 A0T

'14nJ €1 - ¥S01Ie
14N 82 ‘€2 ‘L1 - 260112

991S dW3L HOIH

(M v¥b)70 ST W¥01YdYd3s 10
(WIS9)Z0 22 *40SS34dWOd 10
43153 0AT0d 332 JILIWY W3 FTE0W 10 39VIS ANIVYIdWIL HIH

(B¢T) 70 2/17 (JB1BG) 70 02 WrOP-¥ SLINN LD 82 % €2 LT ‘€I
{UNVYIONYI3Y 39V1S JANIVIIdWIL HITH

g-T-06-¥96561 'ITWNN INIAYID

Thermo Scientific

Model 900 and 5900 Series

8-8



Section 9
Electrical Schematics

WO 0O N O A~ W =

W W W WwWwWwwWwWowImMnMDMD LM M M N M M R = e e s e s e e
O <N O A & W NN = © W W0 90 U & WM — oo v 0 N D W N = O

POVER CONNECTION
230V/S0HZ & 208/230V/60HZ, 18, 2V, 120 FLA
(OPERATING RANGE 207-253V)

Power Inlet
460169

Circuit Breaker Switch
230184

Transformer
420090

o0 o

|

BEgh shgs

Transformer
420090
HIGH STAGE
60 Hz Comp 50 Hz Compx
Start Relay Start Relay
312186 312286
Run Capacttor Run Capacttor
223060 223030
25uF, 440V 200F, 440V
Start Capacitor Start Copacitor
o || P S v
r 130-1; -1
1 Start Relay ’ !
LOV STAGE
Start Relay 60 Hz Conp 50 Hz Conpy
L] 3 Start Cop Start Relay Stort Relay
312186 312286
2 Run Capacitor Run Capacitor
-2 223050 223050
200F, 440V 20uF, 440V
Start Capacitor Start Capacitor
= Jao1 L 623060 623050
130-156uF, 330V 88-106uF, 330V

High Voltage Board
191923

Jeg-1 6 7 HS Fan
e @} 90013
297 ]
-a Jeg-2 8 P 9 LS Fan
1298 % ] 003
5 ') nm] Double Door Heater
1299 by s 132116 1317 cuf®
1 s m y = 132147 @3 cuft)
Expansion Solenoid
12910 ] vl
J23-5 ”
> Fuse 2A
Jes-11 -3 285626
Je9-6 3
Jeg-12

Electrical Schematic
Model:

230V, 50 & 60Hz, -86°C

ULT Upright Freezers

902-70-2-0 REV 12
Page 1 of 3

Thermo Scientific

Model 900 and 5900 Series

9-1



Section 9
Electrical Schematics

39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76

20

1

Voltage Board
A

Switching Po;er Supply

KVAVAVAVAVAY]

]

J20

| —

+14VIC JI3 Y
Jie J19 Ji8

mFe———=a [T =T
| rg_J___,—-quu-_on:
o ————— g
: gwd ll
i ia— IR P sl
Rs-232 Remote Alarm L |$‘
OR  Analog Output == \ -
Ri?es g &y I§E:::—J:::
[ I
5 | ,_%:::_____ﬁvi‘-'<

L __
P = — - iy
7 >,>:::::::|_§‘

Ji2

——

Display Board
191956 (Uprights)

Recorder
201210
@ptionald

Vacuun Relief Heater Assy
1950069

3 Pos. Ribbon
430329

20 Pos. Ribbon
430219

6 _Pos, Ribbon
430309

6 _Pos, Ribbon
430309

12VIC Fan
900134

Ba Batte

sy ey
20 Pos. Ribbon
430219

&c:gg Probe

Heat Exchanger
Probe

290177
Condenser Probe
290178

Control Probe
290176

Cobex Probe
290180

Door Switch
195900

Door Switch
(Double Door>
195900

25 Pos. Serlal Cable
430336 Uprights)

Micro Board Batt
400159 ey

Electrical Schematic
Modlel:

230V, 30 & 60Hz, -86°C

ULT Upright Freezers

902-70-2-0 REV 12
Page 2 of 3

9-2 Model 900 and 5900 Series

Thermo Scientific




Section 9
Electrical Schematics

77
78
WIRE # coLR GAUGE WIRE # coLR GAUGE
79 L 14 29 - -
H RED 14 30 - -
3 GRN/YEL 14 E GRN/YEL 1
80 4 RED " 3 BLK "
5 BLK 14 ) BLU "
81 6 BLK 18 34 BLK "
7 BLK 18 35 BLU "
82 8 B 18 36 BLK 14
1 37 BLU 14
10 BLK 18 38 BLK "
83 1 BK 18 ) BLU "
12 BLK 18 © BK 1
13 BLK 18 a BU 14
84 1 GRN/YEL 18 @ BLK 14
15 GRN/YEL 18 a BLU 14
85 16 GRN/YEL 18 m BLK 14
7 GRN/YEL 14 " BLU 14
18 GRN/YEL 14 % BLK "
86 19 - - " BLU 14
20 - - 8 BLK 14
87 2 BLK 18 9 BLU "
2 RED 18 s0 BK 1
23 BLK 18 st BLU 14
88 2 gD 8 2 YEL/HT 14
53 YEL 14
89 2 BK 18 54 BLU/VHT 1
44 BK 18 S5 BLU "
% 28 RED 18
91
UPRIGHT MODELS:
92 13 CUFT. @30V) - 902, 909, 986, 991, CARB4086D, EXFR1686D, EXF24086D, EXF24086V, HFU240D
HFU2408Y, TSE240D, TSER40V, 909GP, EXF24086GPD, TSE240GPD, 986GP
17 CUFT. 30V) - 905, 910, 988, 994, CAR 28861, EXF32086D, EXF32086V, HFU320RD, HFU320BV
93 TSE320D, TSE320V, 910GP, zxraenascrn TSE320GPD, 968GP
23 CUFT. @3> - 906, 957, 989, 995, CARAONBEI, EXGIGOED, EXEAIGSED, EXF4O0BG\., HFUAGOBD, HUAODBY
00D, TOAIN, 95T A A00RECP D, CE AIGED, RGP
94 28 CUFT. (230V> - 907, 906, CARGINGGI, DXFGI0SGD, EXFGlnBov, HFUSDNED, HFUGOUBY, TSEGOND, TSEGOLV, %08GP
XFo008EGPD, TSEG00GPD
95
96 RS-232 SPECIFICATION
97
98 L Anon _ _
PIM 3 Not Connected ING
99 PIN# 4 Not Connected PINE 3 RXD
PIN$ 5 Normally Closed PINE 5 GND
PIN# 6 Common,
100 PINé 7 _Normally Open
CONTACT RATING 1A @ 30V SW2 Settings for Conmunication Dutput
101 CONTACTS IN ALARM STATE T o7 o3
RS-485
102 W1 Settings for Analog Dutput 855
ol
103 4-20mA Dutput EL.E'.E' olen a3
1 0 4 L) RsS-232
o 0 O
ol o2 &3 SV3_SETTINGS
105 0-1V Dutput EL.E' q ON oo0ono [m]
L]
106 or | O O oo
T 2 3 45 6 7 8
ob.e 3
107 -5V Dutput
5

L Schematic represents single & double door upright models.
Ex nnston

solenold on 17, 83 &

switches shown in opel ?F
3 Bottery switch shomhthe osition.

4. Circuit breaker switch shown in

5. Options and acessories shown in dashed lines.

VALEN

ATTENTION
OBSERVE PRECAUTIONS
ELECTROSTATIC
SENSITIVE DEVICES

28 cuft uprights only,

posttion.

MODEL/PART NAME: LOV-END, ULT -B6C UPRIGHT FREEZERS, 230V, 50 & 60 Hz

DWG TITLE: UNIT SCHEMATIC

DvN HE _ [CAD KIG _[4PPD LIN [ DATE 10-18-10

Electrical Schematic
Modlel:

230V, 30 & 60Hz, -86°C

ULT Upright Freezers

[ scaLe: nowe

MATERIAL

PAINT COLOR:
SCIENTIFIC

Thermo Scientific

TOLEOARE GLESS TVERVEE FECFED | DRAVING NOVBER  [SE
BOX 649, WARIETTA, OHID 45750 moes ool 0 902-70-2 D

902-70-2-0 REV 12
Page 3 of 3

Model 900 and 5900 Series

9-3



Section 9
Electrical Schematics

W 0O N O U W -

W oW W W W WwwwWwwWmMNNMMNMDMMDMD D D M P e s s e s s e
0O 9O AR W= S VW N0 & W - o v 0 N o6 U &+ wh+=— o

POWER CONNECTION
120V, 10, 2W, 60HZ,160 FLA
(OPERATING RANGE 108-132V)

ikl

Power Inlet
460169

Circuit Breaker Switch
230183

Transformer
420065

1

|
Start Relay

Start Cop

Start Relay
1

-E J30-1

55 Start Cop
—

Voltage Board
it

Start Relay
312086

Run Capacitor
212060

85uF, 440V
Start Capacitor
612060
340-408uF, 330V

Start Capacitor
612060 Cop
340-408uF, 330V

Start Relay
312086

pl6

HS Fan
900113
LS Fan
900113

Double Door Heater
132116 (13/17 cuft)

Expansion Solenold
220626

Fuse 2A
285626

Electrical Schematic
Modlel:

120V, 60Hz, -86°C

ULT Upright Freezers

903-70-2-0 REV 11
Page 1 of 3

9-4 Model 900 and 5900 Series

Thermo Scientific




Section 9
Electrical Schematics

39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76

20

1

Voltage Board
#5220

Svftchln?szs-er Supply
4

VYVYVVVY

@

ARARARAA

RS-232 Renmo! larn

DR Analog Dutput —
RS-485 J 20
7 J3

J5
L
Hl==u/
3
N Hi=———n
191989
Nl =——u

R

| Bacap 1|

::—:192997r' M —a
L '%____:__
Ca i I

|:: |§£:::.J:__

| -

R
=== =
a7 |:;>’:::::::|_§’<
Ji2
+14VDC J13
— J6 J19 18
| —
L
L —
I e |
ES 27
% g s
3 !
—
P —q =1 Fm———— A
F e e L -N‘:l?ﬂl 1
Display Board - |_§__| “~
19155 (Uprights) T BHVIC 7T
] T T Merke ~=7 1
1 r= =1 1
b — @ — e e e = ]
Door Heater
N
E <900 Series)
—_——— — — - Vacuun Rellef Heater Assy
(BUS Beertay — 7O
e — = o 3 <900 Series)

3 Pos, Ribbon
430329

20 Pos, Ribbon
430219

6 Pos. Ribbon
430309

6 _Pos. Ribbon
430309

12VIC Fon
900134

Backup Battery
400159

20 Pos, Ribbon
430219

Backup Solenold
LN2: 250129
CO2r 250131

Bockg Probe (@

Heat Exchanger
Probe

290177
Condenser Probe
290178

Control Probe
290176

Cobex Probe
290180

Door Switch
195900

Door Switch

(Double Door)

195900

25 Pos, Serial Cable
430336 Wprights)
Micro Board Battery
400159

Recorder
201210
(Dptional)

Electrical Schematic
Model:

120V, 60Hz, -86°C

ULT Upright Freezers

903-70-2-0 REV 11
Page 2 of 3

Thermo Scientific

Model 900 and 5900 Series 9-5



Section 9
Electrical Schematics

Electrical Schematic
Model:

120V, 60Hz, -86°C

ULT Upright Freezers

77 WIRE # COLOR GAUGE VIRE # COLOR GAUGE
1 BLK 14 29 - -
2 RED " 30 - -
78 3 GRN/YEL 1 a1 GRN/YEL 1
4 RED " 32 BLK 14
79 S BLK " 33 BLU 14
6 BLK 18 34 BLK 14
7 BLK 18 35 BLU 14
80 8 BLK 8 % BK 1
9 BLK 18 37 BLU 14
81 10 BLK 18 38 BLK 14
i BLK 18 39 BLU 14
2 BLK 18 40 BLK 14
82 3 BLK 18 @ LU 1
14 GRN/YEL 18 42 BLK 14
83 15 GRN/YEL 18 43 BLU 14
16 GRN/YEL 18 4“4 - -
7 GRN/YEL 14 45 - -
84 8 GRN/YEL " % - -
1 - - 47 - -
20 - - 48 - -
85 a1 BLK 18 3 - -
22 RED 18 - -
86 23 BLK 8 51 - -
24 RED 18 52 YEL/VWHT 14
87 25 WHT 18 53 YEI 14
BLK 18 54 BLU/VHT 14
27 BLK 18 55 BLU 14
88 28 RED 18
89
UPRIGHT MODELS:
90 13 CUFT. (120V) - 903, 992, CAR24086A, EXF24086A, HFUR40BA, TSE240A
17 CUFT, (120V) - 904, 993, CAR32086A, EXF32086A, HFUS20BA, TSE320A
91 23 CUFT, (120V) - 956, 990, CAR40086A, EXF40086A, HFU400BA, TSE400A
92
93 RS-232 SPECIFICATION
PIN# 1 Analog Output + BAUD = 1200
9 4 PIN# 2 Analog Dutput - PARITY =
PIN# 3 Not Connected BITS =
PIN# 4 Not Connected STOP BITS =2
95 PIN# S Normally Closed
PIN# & Connon. [RS-232 PoRT |
96 PIN# 7 Normally Open ;w g &g
CONTACT RATING 1A @ 30V
CONTACTS IN ALARM STATE PINE 5 GND
97
98 SV1 Settings for Analog Output SW2 Settings for Communication Output
voom . ol .EI.E'I esuags ol o2 @3
99 a1 a4
100 ol o3
0-1V Output .E RS-232 .b.&ﬁ
101 3 .8 X
102 e SV3_SETTINGS
0-5V Dutput ON Ooo0onO [m]
103 a5
oF | O [m] [m ]
10 4 1 2 3 4 5 6 7 8
L Schematic represents single & double door t nodels
105 and chest models. Al heaters are for wrr ﬁg\
2 lmc,;anslon solenold on l7 & 23 cuft upv‘ig\ts only.
106 3. B«ttery snltch shmm h the ?F osition.
Circuit breaker switch shown in OFF position.
107 5. Dptions and acessories shown in dashed lnes.
MODEL/PART NAME} LOV-END, ULT -B6C UPRIGHT FREEZERS, 120V, 60Hz
DVG TITLE! UNIT SCHEMATIC
ATTENTION DV HCE  [CAD KDG_ [APPD: LDN [DATE: 10-10-10  [SCALE: NONE
OBSERVE PRECAUTIONS NATERIAL:
ELECTROSTATIC ThermoFisher PADIT COLOD
& SENSITIVE DEVICES SCIENTIFIC TOLERANCE. UNLESS nnmns’t‘ximm TRAWING NUMBER SZE
BOX 649, WARIETTA, OHID 45750 MNGLES  DECIMAL oot 903-70-2 D

903-70-2-0 REV 11
Page 3 of 3

9-6

Model 900 and 5900 Series

Thermo Scientific




91J1IUBIDS OULIBY]

S$3l18S 006S PUe 006 13POIN

10l

THERMO FISHER SCIENTIFIC FREEZER WARRANTY

The Warranty Period starts two weeks from the date your equipment is shipped from our facility. This allows for shipping time so the
warranty will go into effect at approximately the same time your equipment is delivered. The warranty protection extends to any subse-
quent owner during the warranty period.

During the first two years of the warranty period, component parts proven to be non-conforming in materials or workmanship will be
repaired or replaced at Thermo's expense, labor included. The ULT Freezers include an additional two year warranty on the compressors,
parts only, F.0.B. factory. Installation and calibration is not covered by this warranty agreement. The Technical Services Department must
be contacted for warranty determination and direction prior to any work being performed. Expendable items, i.e., glass, filters, pilot
lights, light bulbs and door gaskets are excluded from this warranty.

Replacement or repair of component parts or equipment under this warranty shall not extend the warranty to either the equipment or to
the component part beyond the original two year warranty period. The Technical Services Department must give prior approval for the
return of any components or equipment.

THIS WARRANTY IS EXCLUSIVE AND IN LIEU OF ALL OTHER WARRANTIES, WHETHER WRITTEN, ORAL, OR IMPLIED. NO WAR-
RANTIES OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE SHALL APPLY. Thermo shall not be liable for any indirect or
consequential damages including, without limitation, damages relating to lost profits or loss of products.

Your local Thermo Sales Office is ready to help with comprehensive site preparation information before your equipment arrives. Printed
instruction manuals carefully detail equipment installation with operation, preventive maintenance and maintenance information on an
included CD.

If equipment service is required, please call your Technical Services Department at 1-800-438-4851 (USA and Canada) or 1-740-373-
4763. We're ready to answer your questions on equipment warranty, operation, maintenance, service, and  special applications.
Outside the USA, contact your local Thermo Scientific office or distributor for warranty information.

ISO

9001

Rev. 10/14 REGISTERED

uonewoju| AlueLBAp

01 uonoag



0l

$al1aS 006S PUe 006 13POIN

9JUBIIS OULIBY]

THERMO FISHER SCIENTIFIC FREEZER INTERNATIONAL DEALER WARRANTY

The Warranty Period starts two months from the date your equipment is shipped from our facility. This allows for shipping time so the
warranty will go into effect at approximately the same time your equipment is delivered. The warranty protection extends to any subse-
quent owner during the warranty period. Dealers who stock our equipment are allowed an additional four months for delivery and instal-
lation, providing the warranty is registered online.

During the first two years of the warranty period, component parts proven to be non-conforming in materials or workmanship will be
repaired or replaced at Thermo's expense, labor excluded. The ULT Freezers include an additional two year warranty on the compressors,
parts only, F.0.B. factory. Installation and calibration is not covered by this warranty agreement. The Technical Services Department must
be contacted for warranty determination and direction prior to any work being performed. Expendable items, i.e., glass, filters, pilot
lights, light bulbs and door gaskets are excluded from this warranty.

Replacement or repair of component parts or equipment under this warranty shall not extend the warranty to either the equipment or to
the component part beyond the original two year warranty period. The Technical Services Department must give prior approval for the
return of any components or equipment.

THIS WARRANTY IS EXCLUSIVE AND IN LIEU OF ALL OTHER WARRANTIES, WHETHER WRITTEN, ORAL, OR IMPLIED. NO WAR-
RANTIES OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE SHALL APPLY. Thermo shall not be liable for any indirect or
consequential damages including, without limitation, damages relating to lost profits or loss of products.

Your local Thermo Sales Office is ready to help with comprehensive site preparation information before your equipment arrives. Printed
instruction manuals carefully detail equipment installation with operation, preventive maintenance and maintenance information on an
included CD.

If equipment service is required, please call your local distributor or theTechnical Services Department at 1-800-438-4851 (USA and
Canada) or 1-740-373-4763. We're ready to answer your questions on equipment warranty, operation, maintenance, service, and special
applications. Outside the USA, contact your local Thermo Scientific office or distributor for warranty information.

ISO

9001

Rev. 10/14 REGISTERED

uoneuLoju| Aiueiepn

0L uonaag



Appendix A Handling Liquid Nitrogen

Warning Contact of liquid nitrogen or cold gas with the skin or eyes may
ﬁt_ cause serious freezing (frostbite) injury. A
f h §

Handle liquid nitrogen carefully.

The extremely low temperature can freeze human flesh very rapidly.
When spilled on a surface the liquid tends to cover it completely and
intimately, cooling a large area. The gas issuing from the liquid is also
extremely cold. Delicate tissue, such as that of the eyes, can be damaged
by an exposure to the cold gas which would be too brief to affect the skin
of the hands or face.

Never allow any unprotected part of your body to touch objects cooled
by liquid nitrogen.

Such objects may stick fast to the skin and tear the flesh when you attempt
to free yourself. Use tongs to withdraw objects immersed in the liquid,
and handle the object carefully.

Wear protective clothing.

Protect your eyes with a face shield or safety goggles (safety glasses without
side shields do not give adequate protection). Always wear gloves when
handling anything that is, or may have been, in immediate contact with
liquid nitrogen. Insulated gloves are recommended, but heavy leather
gloves may also be used. The gloves should fit loosely, so that they can be
thrown off quickly if liquid should splash into them. When handling
liquid in open containers, it is advisable to wear high-top shoes. Trousers

(which should be cuffless if possible) should be worn outside the shoes.

Thermo Scientific Model 900 and 5900 Series A-1



Appendix A
Handling Liquid Nitrogen

Introduction  The safe handling and use of liquid nitrogen in cryogenic refrigerators and
dewar flasks is largely a matter of knowing the potential hazards and using
common-sense procedures based on that knowledge. There are two
important properties of liquid nitrogen that present potential hazards:

1. Itis extremely cold. At atmospheric pressure, liquid nitrogen boils at

-320°F (-196°C).

2. Very small amounts of liquid vaporize into large amounts of gas. One
liter of liquid nitrogen becomes 24.6 cu. ft. (700l) of gas.

The safety precautions in this booklet must be followed to avoid potential
injury or damage which could result from these two characteristics. Do
not attempt to handle liquid nitrogen until you read and fully understand
the potential hazards, their consequences, and the related safety
precautions. Keep this booklet handy for ready reference and review.

Note Because argon is an inert gas whose physical properties are very
similar to those of nitrogen, the precautions and safe practices for handling
and use of liquid argon are the same as those for liquid nitrogen.

Use only containers designed for low temperature liquids.

Cryogenic containers are specifically designed and made of materials that
can withstand the rapid changes and extreme temperature differences
encountered in working with liquid nitrogen. Even these special
containers should be filled SLOWLY to minimize the internal stresses that
occur when any material is cooled. Excessive internal stresses can damage
the container.

Do not cover or plug the entrance opening of any liquid nitrogen
refrigerator or dewar. Do not use any stopper or other device that would
interfere with venting of gas.

These cryogenic liquid containers are generally designed to operate with
little or no internal pressure. Inadequate venting can result in excessive gas
pressure which could damage or burst the container. Use only the loose-
fitting necktube core supplied or one of the approved accessories for
closing the necktube. Check the unit periodically to be sure that venting
is not restricted by accumulated ice or frost.

A-2 Model 900 and 5900 Series Thermo Scientific



Thermo Scientific

Appendix A
Handling Liquid Nitrogen

Use proper transfer equipment.

Use a phase separator or special filling funnel to prevent splashing and
spilling when transferring liquid nitrogen into or from a dewar or
refrigerator. The top of the funnel should be partly covered to reduce
splashing. Use only small, easily-handled dewars for pouring liquid. For
the larger, heavier containers, use a cryogenic liquid withdrawal device to
transfer liquid from one container to another. Be sure to follow
instructions supplied with the withdrawal device. When liquid cylinders
or other large storage containers are used for filling, follow the instructions
supplied with those units and their accessories.

Do not overfill containers.

Filling above the bottom of the necktube (or specified maximum level) can
result in overflow and spillage of liquid when the necktube core or cover is
placed in the opening.

Never use hollow rods or tubes as dipsticks.

When a warm tube is inserted into liquid nitrogen, liquid will spout from
the top of the tube due to gasification and rapid expansion of liquid inside
the tube.

Warning Nitrogen Gas Can Cause Suffocation Without Warning! A
Store and use liquid nitrogen only in a well-ventilated place.

As the liquid evaporates, the resulting gas tends to displace the normal air
from the area. In closed areas, excessive amounts of nitrogen gas reduce
the concentration of oxygen and can result in asphyxiation. Because
nitrogen gas is colorless, odorless and tasteless, it cannot be detected by the
human senses and will be breathed as if it were air. Breathing an
atmosphere that contains less than 18% oxygen can cause dizziness and
quickly result in unconsciousness and death.

Note The cloudy vapor that appears when liquid nitrogen is exposed to
the air is condensed moisture; not the gas itself. The issuing gas is
invisible.

Never dispose of liquid nitrogen in confined areas or places where others
may enter.

Disposal of liquid nitrogen should be done outdoors in a safe place. Pour

the liquid slowly on gravel or bare earth where it can evaporate without
causing damage. Do not pour the liquid on pavement.

Model 900 and 5900 Series A-3



Appendix B Handling Liquid C02

Warning High concentrations of CO2 gas can cause asphyxiation! OSHA
A Standards specify that employee exposure to carbon dioxide in any eight-
hour shift of a 40-hour work week shall not exceed the eight-hour time
weighted average of 5000 PPM (0.5% CO:). The short term exposure
limit for 15 minutes or less is 30,000 PPM (3% CO2). Carbon dioxide

monitors are recommended for confined areas where concentrations of
carbon dioxide gas can accumulate. A

Store and use liquid CO: only in a well-ventilated place.

As the liquid evaporates, the resulting gas tends to displace the normal air
from the area. In closed areas, excessive amounts of CO: gas reduce the
concentration of oxygen and can result in asphyxiation. Because CO: gas
is colorless, odorless and tasteless, it cannot be detected by the human
senses and will be breathed as if it were air. Breathing an atmosphere that
contains less than 18% oxygen can cause dizziness and quickly result in
unconsciousness and death.

Note The cloudy vapor that appears when liquid CO:z is exposed to the air
is condensed moisture; not the gas itself. The issuing gas is invisible.

Never dispose of liquid CO: in confined areas or places where others
may enter.

Disposal of liquid CO: should be done outdoors in a safe place. Pour the

liquid slowly on gravel or bare earth where it can evaporate without
causing damage. Do not pour the liquid on pavement.

B-1 Model 900 and 5900 Series Thermo Scientific



Thermo Scientific

Appendix C First Aid

If a person seems to become dizzy or loses consciousness while working
with liquid nitrogen or carbon dioxide, move to a well-ventilated area
immediately. If breathing has stopped, apply artificial respiration. If
breathing is difficult, give oxygen. Call a physician. Keep warm and at
rest.

If exposed to liquid or cold gas, restore tissue to normal body temperature
(98.6° F) as rapidly as possible, followed by protection of the injured tissue
from further damage and infection. Remove or loosen clothing that may
constrict blood circulation to the frozen area. Call a physician. Rapid
warming of the affected part is best achieved by using water at 108° F.
Under no circumstance should the water be over 112° F, nor should the
frozen part be rubbed either before or after rewarming. The patient
should neither smoke nor drink alcohol.

Model 900 and 5900 Series C-1



Thermo

SCIENTIFIC

A Thermo Fisher Scientific Brand



